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Q1. Who is considered as the founder of Bengaluru? 

A. Kanaka Dasa B. Saalumarada Thimmakka 

C. Kempe Gowda D. Basavanna 

Q1. -े䜂�लIy �? 9�}%?+� ��m:े䜂 /?0? �?$? :P? 

A. �0�? .?9? B. 9?लI/1.? -?म⹍/कᕍ�? 

C. �O म⹍+O �L]? D. -9=m0? 
 

Q2. Which currency notes were demonitised in November 2016? 

A. 100 and 1000 B. 50 and 500 

C. 100 and 500 D. 500 and 1000 

Q2. 0=म⹍-1 2016 /े䜂 ��0-��0 �1े䜂9I 0K�ो䬂 �? ==/I्䵖I�1# :I� %?? 

A. 100 �1 1000 B. 50 �1 500 

C. 100 �1 500 D. 500 �1 1000 

 

Q3. Kaziranga National Park is located in ______. 

A. Assam B. Bihar 

C. Uttar Pradesh D. Meghalaya 

Q3. �?�I1��? 0P>0ल +?��  _____ /े䜂 }}%$ :P। 

A. 
9/ B. --:?1 

C. �m?1 �.O> D. /O ?ल0 

 

Q4. Pradhan Mantri Mudra Yojana is a ____________. 

A. Scheme for providing accident insurance cover 

to Indian citizens 

B. Scheme for securing future of girl child 

C. Scheme for providing funding to non-corporate 

small business sector 

D. Scheme for providing life insurance cover to 

Indian citizens 

Q4. ्䵚/?0 /�्䵔I /I्䵖? 0K�0? __________ :P। 

A. .?1?I0 0?�91�ो䬂 �K .I ��0? -I/? 9I1्䵌? .O0O �I 0K�0? B. -_च?0ो䬂 �O  .==�0 �K 9I1्䵌्䵌? �10O �I 0K�0? 

C. �P1-�I+ो1O� ल I }0=9?0 ्䵌O्䵔 �K /0 �+लm/ �1?0O �I 
0K�0? 

D. .?1?I0 0?�91�ो䬂 �K �I=0 -I/? 9I1्䵌? .O0O �I 0K�0? 
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Q5. The Third battle of Panipat was fought in _______. 

A. 1776 B. 1765 

C. 1761 D. 1762 

Q5. +?0I+$ �I $I91I ल]?� _________ /े䜂 ल]I �� %I। 

A. 1776 B. 1765 

C. 1761 D. 1762 

 

Q6. King Harshavardhana established his capital at Thanesar near Kurukshetra in ______ 
AD. 

A. 800 B. 600 

C. 700 D. 900 

Q6. 1?�? :}�=/�0 0O 90 ्____ /े䜂 �I z�O्䵔 �O  +?9 %?0O91 /े䜂 
+0I 1?�/?0I }%?=+$ �I। 

A. 800 B. 600 

C. 700 D. 900 

 

Q7. _________ gave Haryana the name 'Harna'. 

A. Maharaj Krishan B. Maharaj Vaidya 

C. Maharaj Vardhana D. Maharaj Chand 

Q7. ________ 0O :910?#? �? 0?/ ':10?' 1�? %?। 

A. /:?1?� �ृ�+ B. /:?1?� =Pद♍0 

C. /:?1?� =/�0 D. /:?1?� ??m. 
 

Q8. ______ was the last Hindu ruler of Delhi who was born in Rewari, Haryana. 

A. Maharaja Ranvijay Singh B. Samrat Hemchandra Vikramaditya 

C. Samrat Dhyan Chandra D. Prithvi Raj Chauhan 

Q8. _________ :910?#? �O  1O=?1I /े䜂 �m/ लO0O =?लO, /?ल㉍लI �O  
�-$/ /:�? ू>?9� %O। 

A. /:?1?�? 1+==�0 99?: B. 9्䵞?� :O/?mर ==्䵅/?/.m0 

C. 9्䵞?� o0?0 ?mर D. +mृ=I 1?� ?L:?0 

 
 
 

www.mseducationtv.com



 

Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana) 

 Morning Session 

 

Page 3 of 28 

 

Q9. Sakshi Malik belongs to which district of Haryana? 

A. Hisar B. Faridabad 

C. Rohtak D. Rewari 

Q9. 9?�I /;ल�, :910?#? �O  ��9 }�लO �I 1:0O =?लI :ै䠂? 

A. /:9?1 B. ,1I.?-?. 

C. 1K:?� D. 1O=?1I 
 

Q10. Which of the following has a cargo airport in Haryana? 

A. Karnal B. Rohtak 

C. Hisar D. Chandigarh 

Q10. -0म⹍0;ल��$ /े䜂 9O �L0, :910?#? �? �� �?�ो �01+K�� :P? 

A. �10?ल B. 1K:?� 

C. /:9?1 D. ??!I�^ 
 

Q11. Who is the current Finance Minister of Haryana? 

A. Anil Vij B. Om Prakash Dhankar 

C. Ram Bilas Sharma D. Captain Abhimanyu 

Q11. =$�/?0 /े䜂 :910?#? �? ==त⑍$ /�्䵔I �L0 :P? 

A. 
-0ल ==� B. �/ ��?> /0�1 

C. 1?/ --ल?9 >/?� D. �P o�0 
9./m0I 
 

Q12. In which category did Vinesh Phogat win the Silver medal in the Asian Wresting 
Championship, 2017? 

A. 45 kg B. 50 kg 

C. 55 kg D. 60 kg 

Q12. 2017 /े䜂 �;>0?� �I �$I �P}म⹍+00;>+ /े䜂 ==0O> ,K�� 0O ��9 ्䵦O#I /े䜂 1�$ +?� �I$? %?? 

A. 45 ��लK B. 50 ��लK 

C. 55 ��लK D. 60 ��लK 
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Q13. Which village in Haryana has been renamed as Saraswati Nagar? 

A. Zaria B. Mustafabad 

C. Kaduna D. Neemrana 

Q13. :910?#? �O  ��9 �??= �? 0?/ 91=$I 0�1 1�? �0? :P? 

A. ज᰼910? B. /I}?,?-?. 

C. �?.I0? D. 0I/1?0? 
 

Q14. Which award was recently given to Mahaveer Singh Phogat by the Indian government? 

A. National Teachers Award B. Dronacharya Award 

C. Arjuna Award D. Khel Ratna 

Q14. .?1$ 91�?1 द♍=?1? /:?=I1 ;9�: ,K�� �K :?ल :I /े䜂 �L0 9? +I1}�?1 /?0? �0? %?? 

A. 1?�रI0 9>्䵌� +I1}�?1 B. रK+???0� +I1}�?1 

C. 
�I�0 +I1}�?1 D. �Oल 1m0 

 

Q15. Which Saint-poet's birth is linked with the village called Sihi? 

A. Surender Sharma B. Haridas 

C. Deep Chand Bahman D. Surdas 

Q15. ��9 9�$-�== �O  �m/ �? 9म⹍-m/ 9I:I 0?/� �??= 9O :P? 

A. 9I1Omर >/?� B. :91.?9 

C. .I+ ??. -:/0 D. 91ू.?9 

 

Q16. Who wrote 'Haryana Ka Itihas'? 

A. Pandit Shri Ram Sharma B. Dhanpat Singh 

C. Pandit Mange Ram D. Baje Bhagat 

Q16. ':910?#? �? �-$:?9' ��90O ;ल�?? 

A. +?)!? �I 1?/ >/?� B. /0+? 99?: 

C. +?)!? /??�O 1?/ D. -?�O .�? 
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Q17. In which year was Dainik Haribhoomi published for the first time in Haryana? 

A. 1995 B. 1997 

C. 1998 D. 1996 

Q17. ��9 =}� /े䜂 :910?#? /े䜂 +:लI -?1 ?P-0� :91.ू;/ ्䵚�?;>$ :I� %I? 

A. 1995 B. 1997 

C. 1998 D. 1996 

 

Q18. Haryanavi Ramayan was composed by _________. 

A. Khuda Baksh Ahmed B. Surdas 

C. Kalidas D. Pandit Mange Ram 

Q18. :10?#=I 1?/?0# �I 1�0? _______ 0O �I %I। 

A. �I.? -कᕍ> 
:/. B. 91ू.?9 

C. �?9ल.?9 D. +?)!? /??�O 1?/ 

 

Q19. Gurudwara Manji Sahib is located at _________. 

A. Chandigarh B. Ambala 

C. Karnal D. Hisar 

Q19. �Iyद♍=?1? /��I 9?/:- _________ /े䜂 }}%$ :P। 

A. ??!I�^ B. 
म⹍-?ल? 

C. �10?ल D. /:9?1 
 

Q20. The ________ river is a tributary of the Ghaggar river. 

A. Markanda B. Indori 

C. Dohan D. Krishnavati 

Q20. ____ 0?I,  _�1 0?I �I �� 9:?0� 0?I :P। 

A. /?�ं! B. �m.K1I 

C. .K:0 D. �ृ�+?=?I 
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Q21. Where is the Asigarh Fort located in Haryana? 

A. Hansi B. Bahadurgarh 

C. Sirsa D. Agroha 

Q21. 
;9�? ��ल? :910?#? /े䜂 �:?� }}%$ :P? 

A. :??9I B. -:?.I1�^ 

C. 9919? D. 
्䵇K:? 
 

Q22. Kalesar National Park is situated in ________ district. 

A. Hisar B. Rewari 

C. Yamunanagar D. Karnal 

Q22. �?लO91 1?�रI0 �द♍0?0 ________ }�लO /े䜂 }}%$ :P। 

A. /:9?1 B. 1O=?]I 

C. 0/I0?0�1 D. �10?ल 

 

Q23. The Jui Irrigation system is an example of ________ irrigation. 

A. Gravity B. Drip 

C. Sprinkler D. Lift 

Q23. �I� ;9��?� ्䵚#?लI, ________ ;9��?� �? �� �??:1# :P। 

A. ्䵇O==�I 0? �Iym=?�}�+ B. )ि+ 0? �+� 

C. _}�?�ल1 0? -?]�?= D. 9लo� 0? � ?= 
 

Q24. Which two districts are irrigated by the Gurgaon canal? 

A. Gurgaon, Rewari B. Gurgaon, Bhiwani 

C. Gurgaon, Faridabad D. Gurgaon, Rohtak 

Q24. �I]�?�= 0:1 9O ��0 ?K }�लो䬂 /े䜂 ;9��?� :K$I :P? 

A. �I]�??=, 1O=?]I B. �I]�??=, 9.=?0I 

C. �I]�??=, ,1I.?-?. D. �I]�??=, 1K:?� 
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Q25. What is the minimum age limit to be the Governor of an Indian state? 

A. 35 B. 40 

C. 42 D. 32 

Q25. .?1$I0 1?जᱍ0 �O  1?जᱍ0+?ल �I m0ू0$/ �0I 9I/? ��$0I :K$I :P? 

A. 35 B. 40 

C. 42 D. 32 

 

Q26. Jakhal Junction is located in which district? 

A. Panchkula B. Sonepat 

C. Faridabad D. Fatehabad 

Q26. �?�ल ��]>0 ��9 }�लO /े䜂 }}%$ :P? 

A. +??�I ल? B. 9K0I+? 

C. ,1I.?-?. D. ,?O:?-?. 
 

Q27. The Central Government's Dairy Research Centre is in _______. 

A. Hisar B. Kurukshetra 

C. Sirsa D. Karnal 

Q27. �े䜂 ्䵖 91�?1 �? ?I_/ 
0I9�/?0 �े䜂 ्䵖 ________ /े䜂 }}%$ :P। 

A. /:9?1 B. �I y्䵌O्䵔 

C. 9919? D. �10?ल 

 

Q28. Baisakhi in Haryana is mainly popular in __________. 

A. Hisar B. Kurukshetra 

C. Pinjore D. Kaithal 

Q28. :910?#? /े䜂 -P9?�I /I_0 z+ 9O ________ /े䜂 लK�=्䵚0 :P। 

A. /:9?1 B. �I y्䵌O्䵔 

C. =+?�L1 D. �P -ल 
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Q29. 'Operation Durga' in Haryana is linked with __________. 

A. Safety of Men B. Safety of Child 

C. Safety of Women D. Safety of Temple 

Q29. :910?#? /े䜂 '�+1O>0 ?I�?�' �? 9म⹍-m/ ________ 9O :P। 

A. +Iy}ो䬂 �I 9I1्䵌? B. -च?ो䬂 �I 9I1्䵌? 

C. //:ल?�? �I 9I1्䵌? D. /?/.1 �I 9I1्䵌? 
 

Q30. Pick the odd one out: 
 

Swimming, Fishing, Driving, Diving 

A. Swimming B. Driving 

C. Diving D. Fishing 

Q30.  


9��$ �? �00 �1े䜂: 
 

$P1?�I, /त⑍}0+?ल0, ्䵑?�==��, �K$?�K1I 

A. ?P1?�I B. ि?�==?� 

C. �K??�K1I D. /m}0+?ल0 

 

Q31. Find the analogy. 
 

Cdd : Dcc :: Fgg : 

A. Gff B. fGG 

C. GfG D. gFg 

Q31.  

9/?0 
�1-9/ू: "ू�"े䜂। 
 
Cdd : Dcc :: Fgg : 

A. Gff B. fGG 

C. GfG D. gFg 
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Q32. What should come at the place of question mark (?) in the following number series? 
 
4, 9, 16, 25, 36,? 

A. 42 B. 49 

C. 45 D. 46 

Q32.  

-0म⹍0;ल��$ 9�_0? ्䵦र��ल? /े䜂 ्䵚�0 ��}0 (?) �O  }%?0 +1 ]0? :K0? �?/:�? 

 

4, 9, 16, 25, 36, ? 

A. 42 B. 49 

C. 45 D. 46 

 

Q33. If GOLD is coded as EMJB, how to code COIN? 

A. EQKP B. NIOC 

C. DQKP D. AMGL 

Q33. 0/? �� �K! .?}? /े䜂 GOLD �K EMJB ;ल�? �?$? :P $K COIN �K ]0? ;ल�? �?��?? 

A. EQKP B. NIOC 

C. DQKP D. AMGL 

 

Q34.  . Find the value of x. 

A.  B.  

C.  D.  

Q34. 0/?  :K $K x �? /?0 _?$ �1े䜂। 

A.  B.  

C.  D.  

 

Q35. The probability of a number is always ___________. 

A. Equal to 1 B. Greater than 1 

C. Equal to 0 D. Between 0 and 1 
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Q35. �� 9�_0? �I 9�.?=0? :/O>? _________ :K$I :P। 

A. 1 �O  -1?-1 B. 1 9O 
//� 

C. 0 �O  -1?-1 D. 0 �1 1 �O  -I? 

 

Q36. Varun got 85% in history test. If the test was out of 50 marks, what was his score in 

the test? 

A. 42.50 B. 40.50 

C. 39.50 D. 41.50 

Q36. =y# �K �-$:?9 �I +1I�? /े䜂 85% 
�� ;/ल?। 0/? +1I�? 50 
�� �I %I $K +1I�? /े䜂 �9O �I ल ��$0? 
�� ;/ल? %?? 

A. 42.50 B. 40.50 

C. 39.50 D. 41.50 

 

Q37. A mixer costs Rs.7500. Charu buys it at a discount of 12%. She then sells the mixer for 
Rs.9800. How much profit did Charu make? 

A. Rs.2600 B. Rs.3200 

C. Rs.1400 D. Rs.2100 

Q37. �� ;/]91 �I ल?�$ 7500 y+0O :P। �?z �9O 12% �I �ू� +1 �1I?$I :P। �9�O  -?? =: �9O 9800 y+0O /े䜂 -O� ?O$I 
:P। �?z 0O ��$0? ल?. �/?0?? 

A. 2600 y+0O B. 3200 y+0O 

C. 1400 y+0O D. 2100 y+0O 
 

Q38. _________ mirrors are usually used as rear-view mirrors in vehicles. 

A. Concave B. Convex 

C. Plane D. Flat 

Q38. �?]]0ो䬂 /े䜂 9101-}0ू ;/11 �O  z+ /े䜂 �/$L1 +1 _______ ?+�#ो䬂 �? �+0K� ��0? �?$? :P। 

A. 
=?ल B. �m?ल 

C. 9/?ल D. फ़幍लP� 
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Q39. The reaction in which acids react with bases to form salt and water is known as 
_________. 

A. Displacement B. Neutralization 

C. Oxidation D. Reduction 

Q39. }�9 ्䵚-$�ि0? /े䜂 
म⹍ल, �?1 �O  9?% ्䵚-$�ि0? �1�O  0/� �1 +?0I -0?$? :P �9 ्䵚-$�ि0? �K _________ �O  0?/ 

9O �?0? �?$? :P। 

A. ==}-?+0 B. -0��.?=I�1+ 

C. �कᕍ9I�1+ D. m0ू0I�1+ 

 

Q40. Green plants are also called as _______. 

A. Autotrophs B. Heterotrophs 

C. Consumers D. Scavengers 

Q40. :1O +O]-+L/ो䬂 �K _______ .I �:? �?$? :P। 

A. }=+K}I B. ==}/+K}I 

C. �+.Kकᕍ?? D. /O:?1 
 

Q41. ______ is the synonym of "urgent". 

A. Useful B. Unavailable 

C. Critical D. Huge 

 

Q42. ________ is the antonym of "scarcity". 

A. Frightening B. Plenty 

C. Pleasant D. Troubled 

 

Q43. Identify the meaning of the idiom: 
 
"A drop in the ocean". 

A. A small part of what is needed B. A small person 

C. Only a small task is left to be completed D. To fall deep in a trouble 
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Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"The cattle was grazing in Ramu's field when the jackal attacked." 

A. The cattles was grazing in Ramu's field when 

the jackal attacked. 

B. The cattle were grazing in Ramu's field when 

the jackal attacked. 

C. The cattles were grazing in Ramu's field when 

the jackal attacked. 

D. The cattle was grazing in Ramu's field when 

jackal attacked. 

 

Q45. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
The thief _________ (catch) by the crowd. 

A. were caught B. were catch 

C. were catching D. was caught 

 

Q46. 0I�O ;ल�O >m? �? +0?�0=?�I >m? -$?�0े䜂| 

 

�I -O1 

A. 0्䵌1?� B. 0/1?� 

C. =?9I.O= D. 1==?00? 
 

Q47. 0I�O ;ल�O �0O >m? �? ==+1I$ (==लK/) >m? -$?�0े䜂 | 

 

�??1 

A. 9?�?1 B. 0/�/.ल 

C. +1K+�?1 D. 
0I.?1 
 

Q48. 0I�O /?0O �0O /I:?=1O �? �+0I�]$ 
%� -$?0े䜂| 

 

,ूल? 0 9/?0? 

A. /K�? :K �?0? B. ,ूलो䬂 9O ल. �?0? 

C. -:I? �9m0 :K0? D. �+]O ?K�O :K �?0? 
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Q49. 0I�O ;ल�O >m? �? ��=�0 -0?0े䜂| 

 

/O0I�? 

A. /O0I B. /O0Iु䄃 

C. /O0ू D. /m0K 
 

Q50. 0I�O ;ल�O >m? �? -:I=�0 -0?0े䜂| 

 

�$I 

A. �?I� B. �?I� 

C. �?I�	 D. �?I0े䜂 
 

Q51. Accounting of Fixed Asset is done as per _________. 

A. AS 3 B. AS 5 

C. AS 6 D. AS 10 

Q51. �़㰿]}! 
9OटὍ9 �I 
�?�� /�� �0/े䜂 9O ��9�O  
0I9?1 �I �?$I :P? 

A. AS 3 B. AS 5 

C. AS 6 D. AS 10 

 

Q52. The deduction allowed by creditor to debtor with a view to encourage quick and 
prompt payment is ________. 

A. Trade discount B. Purchase return 

C. Cash discount D. Sales return 

Q52. $I1m$ +O/ै䠂� �K -??=? ?O0O �O  ;ल� िO ]!�1 द♍=?1? !Pm�1 �K �K �ू�/��L$I ?I �?$I :P �9O ]0? �:$O :ै䠂? 

A. रO! )!}�?�? � B. +1?Oज᰼ 91�0� 

C. �P > )!}�?�? � D. 9Oल㉍9 91�0� 
 

Q53. A vehicle purchased for Rs.375000 whose depreciated book value is Rs. 150000 is sold 
for Rs 125000. What is the loss or profit to be accounted? 

A. Profit of Rs.25000 B. Loss of Rs.225000 

C. Loss of Rs.25000 D. Profit of Rs.250000 
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Q53. �� =?:0 y. 375000 �? �1I?? �0? %?। �9�I ]!+1I;>0O�O! -I� =Pल㉍0ू y. 150000 :P �1 �9O y. 125000 /े䜂 -O� 

/?0? �0?। �?$O /े䜂 ��$0? ल?. 0? :?-0 /?�?0? �?��?? 

A. y. 25000 �? ल?. B. y. 225000 �I :?-0 

C. y. 25000 �I :?-0 D. y. 250000 �? ल?. 

 

Q54. Which among the following is the correct one? 

A. Asset + liability = capital B. Capital + asset= liability 

C. Liability - reserve = asset D. Asset - liability = owner's fund 

Q54. �0/े䜂 9O �L0 9? 9:I :P? 

A. 
9O� + ल?0--9ल�I = �P =+�ल B. �P =+�ल + 
9O� = ल?0--9ल�I 

C. ल?0--9ल�I - 91ज᰼=� = 
9O� D. 
9O� - ल?0--9ल�I = }=?/I �? ,? ! 
 

Q55. Mr. X purchased goods costing Rs.30000 at trade discount 5% and cash discount 1%. 
Amount to be recorded in purchase account is __________. 

A. Rs 29000 B. Rs 28500 

C. Rs 28215 D. Rs 30000 

Q55. ्䵦I/?0 X 0O y. 30000 /ूल㉍0 �I =}$I�� 5% �O  रO! ]!}�?�� � �1 1% �O  �P > ]!}�?�� � +1 �1I?I�। +1�Oज᰼ 
�?�� � /े䜂 
��$0I 1?;> �??� �?��I? 

A. y. 29000 B. y. 28500 

C. y. 28215 D. y. 30000 

 

Q56. In hire purchase system asset account is debited with ________ of the asset in the 
books of hire purchaser. 

A. Down payment B. Hire purchase price 

C. Installment price D. Cash price 

Q56. :?01 (Hire) +1�Oज᰼ ;9}�/ /े䜂 
9O� 
�?�� � �K, :?01 +1�Oज᰼1 �O  �?$ो䬂 /े䜂 
9O� �O  _________ 9O !O--� ��0? 
�?$? :P। 

A. !?�0 +O/ै䠂� B. :?01 +1?Oज᰼ �?�9 

C. �?}�?ल/ै䠂� �?�9 D. �P > �?�9 
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Q57. Insurance paid on 1.9.2013 is Rs 12000. What is the amount to be transferred to 
prepaid insurance account for the year ended 2014? 

A. Rs.7000 B. Rs.12000 

C. Rs.9000 D. Rs.5000 

Q57. 1.9.2013 �K �I�?� �� ���0K1Om9 y. 12000 :P। 2014 /े䜂 9/?o$ =}� �O  ;ल� ्䵚I+O! ���0K1Om9 
�?�� � /े䜂 ��$0I 
1?;> र?�9,1 �I �?��I? 

A. y. 7000 B. y. 12000 

C. y. 9000 D. y. 5000 

 

Q58. Using capitalization method, find out goodwill, given that capital employed is 

Rs.150000, reasonable rate of return 15%, profit for the year Rs.30000. 

A. Rs 50000 B. Rs.970000 

C. Rs.800000 D. Rs.7500 

Q58. �P =+�ल?�ज᰼O>0 ==�/ �? �+0K� �1$O :I� �I!==ल _?$ �1े䜂, /?0? :P �� �?/ /े䜂 ल?� �� �P =+�ल (�P =+�ल �म⹍oलI�!) y. 
150000 :P, 1Iज᰼0O-ल 1O� �़㰿 91�0� 15% :P, =}� /े䜂 ्䵚?o$ ल?. y. 30000 :P। 

A. y. 50000 B. y. 970000 

C. y. 800000 D. y. 7500 

 

Q59. Capital at the beginning of the accounting year in case of single entry system is 
ascertained by preparing _________. 

A. Cash account B. Bank account 

C. Bank reconciliation statement D. Opening statement of affairs 

Q59. ;9��ल ��रI ;9}�/ /े䜂 
�?�� /��� =}� �I >Iy�$ /े䜂 �P =+�ल �K _______ $P0?1 �1�O  9I-0}��$ ��0? �?$? :P। 

A. �P > 
�?�? � B. -ै䠂� 
�?�? � 

C. -ै䠂� 1I�I_m9लO>0 }�O�/ै䠂� D. �+-0?� }�O�/ै䠂� �फ⬼ 
फ⬼O 09� 
 

Q60. Inherent limitation of audit is _________. 

A. True and fair view B. Confidentiality 

C. Undetected fraud D. Integrity 
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Q60. �]!� �I �� 9:� �/I 
%=? 9I/? _________ :P। 

A. 9m0 = -0�+्䵌 द♃�0 B. �K+0I0?? 

C. �I! �? +?? 0 �1 +?0? D. ++ू�?? = >Ip?? 
 

Q61. __________ risk is unavoidable in nature and are bound to arise since accounts are 

susceptible. 

A. Control B. Financial 

C. Detection D. Inherent 

Q61. __________ 91}� �I ्䵚�र -$ �9I :K$I :P �� �09O -�? 0:I� �? 9�$? �1 �0�? �  �]? :K0? $0 :P ]0ो䬂�� 


�?�� टὍ9 
-$9�=O?0>Iल (99P}o�-ल) :K$O :ै䠂। 

A. �? रKल B. ,?�0P_m>0ल 

C. )!�Pकᕍ>0 D. �m:O1ै䠂टὍ 
 

Q62. ________ is an attitude that includes a questioning mind and critical assessment of 
audit evidence 

A. Professional judgment B. Professional skepticism 

C. Professional ethics D. Audit documentation 

Q62. _________ �� �9? 1=P0?/}=.?= :P }�9/े䜂 9=?ल �10O =?ल? /?/?ग᜼ �1 �]!� �O  9-ू$ो䬂 �? 9/I�?त⑍/� 

(critical) /ूल㉍0?��0 �10? >?;/ल :P। 

A. }0?=9?-0� -0+�0 B. }0?=9?-0� 9?>0=?. 

C. }0?=9?-0� 0P-?�?? D. �)!� !Iकᕍ0ू/ै䠂�O>0 

 

Q63. Responsibility of auditor is to ________. 

A. Prepare financial statement B. Express opinion on financial statement 

C. Detect fraud in financial statement D. Safeguard of assets 

Q63. �0/े䜂 9O ]0? �]!�1 �I }ज᰼म⹍/O??1I :P? 

A. ,?�0ै䠂9>0ल }�O�/ै䠂� ?P0?1 �10? B. ,?�0ै䠂9>0ल }�O�/ै䠂� +1 1?0 ��� �10? 

C. ,?�0ै䠂9>0ल }�O�/ै䠂� /े䜂 ቸ硬I! �? +?? ल�?0? D. 
9OटὍ9 �I 9I1्䵌? �10? 
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Q64. Audit materiality is inversely proportional to ________. 

A. Audit risk B. Detection risk 

C. Control risk D. Inherent risk 

Q64. �]!� /P�I910P;ल�I (�]!� $?}त⑍=�$?) ��9�O  }0Iत⑍ि/?0I+?$I (�0=9�लI ्䵚+K>�0ल) :P? 

A. �)!� 91}� B. )!�Pकᕍ>0 91}� 

C. �? रKल 91}� D. �m:O1ै䠂� 91}� 

 

Q65. __________ is audit or verification of transactions or activities of an organization 
continuously as the transaction takes place. 

A. Statutory audit B. Tax audit 

C. Concurrent audit D. Cost audit 

Q65. __________ -01�$1 ��9I 9�� 0 �O  लO0?O0 0? �ि0?�ल?+ो䬂 (�}]�==�Iज᰼) �? �0�O  :K0O �O  9?%-9?% :I �]!� 0? 
=P91�़㰿�O >0 �10O �K �:$O :ै䠂। 

A. }�Pच0I�1I (statutory) �)!� B. �Pकᕍ9 �)!� 

C. �Im�1?� (concurrent) �)!� D. �I}� �)!� 
 

Q66. Identify nostro account from the following : 

A. Bank of America holding super account with 

SBI in Delhi 
B. SBI holding US  in America with Bank of 

America 

C. SBI holding account in other banks in India D. SBI savings account 

Q66. -0म⹍0?���$ /े䜂 9O 0I}रK 
�?�� � +:�?0े䜂 : 

A. SBI /.ल㉍लI /े䜂, -ै䠂� �फ⬼ 
/O91�? �? 9I+1 
�?�? � B. 
/O91�? �O  -ै䠂� �फ⬼ 
/O91�? /े䜂 SBI �O  �/? US  

C. SBI �O  .?1? �O  
m0 -ै䠂�ो䬂 /े䜂 
�?�? � D. SBI 9O==?गᝍ9 
�?�? � 
 

Q67. _________ are the price bands that set the upper and lower limit within which a stock 
can fluctuate in a particular day. 

A. Unexpired risk reserve B. Volatility margin 

C. Mark to market margin D. Circuit filters 
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Q67. __________ =K /ूल㉍0 -ै䠂! :ै䠂 �K �0 �+1I = -0�लI 9I/?�� �K $0 �1$O :ै䠂 }�0�O  -I� ��9I }�I� �? ्䵚?�9 ��9I 
/?0 ==>O} /े䜂 �+1-0I�O �? 9�$? :P। 

A. 
0�कᕍ+?0!� 91}� 91ज᰼=� B. =IलO�P9ल�I (volatility) /?_��0 

C. /?��  �ू /?�े� /?_��0 D. 9��� � �फ⬼ल㉍�9� 
 

Q68. Find out the current ratio: 

 
Sundry debtors Rs. 15000 
Short term investments Rs. 2000 
Stocks Rs. 3000 
Bills payable Rs. 5000 
Expenses payable Rs. 7000 

A. 1.75:1 B. 1.68:1 

C. 1.79:1 D. 1.66:1 

Q68.  

�1�� 1O;>0K _?$ �1े䜂: 
 

9�्䵑I !Om�9� y. 15000 

>I�� �/� �m=P}�/ै䠂टὍ9 y. 2000 

}�I]9 y. 3000 

--ल㉍9 +O0O--ल y. 5000 

�]9+ै䠂;9� +O0O--ल y. 7000 

A. 1.75:1 B. 1.68:1 

C. 1.79:1 D. 1.66:1 

 

Q69. Increase in working capital shows_________ 

A. Application of fund B. Source of fund 

C. Loss from operation D. Fund from operation 

Q69. =��ि㼂 � �P =+�ल /े䜂 :K0O =?लI -?$ ]0? /?�?$I :P _____________ 

A. ,? ! �? �+0K� /े䜂 ल?0? �?0? (�oलI�O >0 �फ⬼ ,? !) B. फ⬼? ! �? 9K9� 

C. �+1O>0 9O :?-0 D. �+1O>0 9O फ⬼? ! 
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Q70. __________ is a technique of costing which differentiates between fixed costs and 
variable costs and charging only variable costs to products. 

A. Absorption costing B. Standard costing 

C. Batch costing D. Marginal costing 

Q70. __________ �I}}��� �I �� $�0I� :P �K �़㰿]}! �I}टὍ9 �1 =P910O--ल �I}टὍ9 /े䜂 
m$1 �1$I :P �1 ्䵚K!]टὍ9 

+1 �O =ल =P910O--ल �I}टὍ9 :I �?�� �1$I :P। 

A. �m9Io>�0 �I_}�?� B. }�ै䠂!!� �I_}�?� 

C. -P? �I_}�?� D. /?_��0ल �I_}�?� 

 

Q71. Break Even Point (BEP) is _________. 

A. Fixed expenses / contribution per unit B. PV ratio / contribution per unit 

C. Profit / contribution per unit D. Variable expenses / contribution per unit 

Q71. ्䵜O� �==0 +I��� (BEP) ]0? :K$? :P? 

A. �,कᕍ}! �कᕍ+ै䠂99ज᰼ / �ौ䰂रIm0ू>0 �-? 0-ू0� B. PV 1O9>0K / �ौ䰂रIm0ू>0 �-? 0-ू0� 

C. ल?. / �ौ䰂रIm0ू>0 �-? 0-ू0� D. =P910O--ल �कᕍ9+ै䠂99� / �ौ䰂रIm0ू>0 �-? 0-ू0� 
 

Q72. What will margin of safety be at profit of Rs. 5000 when contribution and sales are Rs. 
8000 and Rs. 20000 respectively will be ___________. 

A. Rs.12500 B. Rs.10000 

C. Rs.11000 D. Rs.11500 

Q72. �- �ौ䰂रIm0ू>0 �1 9Oल㉍9 ि/>ः y. 8000 �1 y. 20000 :ो䬂 $K y. 5000 �O  ल?. +1 /?}��0 �़㰿 9O़㱸�I ]0? :K�?? 

A. y. 12500 B. y. 10000 

C. y. 11000 D. y. 11500 

 

Q73. _________ is a technique which involves identification of cost with each cost driving 

activity and making it as the basis for apportionment/assignment of costs over different 
cost objects/jobs/products/customers/services. 

A. Job costing B. ABC Analysis 

C. Process costing D. Product cost 
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Q73. __________ �� $�0I� :P }�9/े䜂 :1O� �I}� ्䵑?�==�� �}]�==�I �O  ;ल� �I}� �I +:�?0 �I �?$I :P �1 �9O 
==;.m0 �I}� �m�P]टὍ9/�Im9/्䵚K!]टὍ9/�}�/9�/9==�;9� +1 �I}टὍ9 �? 
+I���/ै䠂�/
9?�0/ै䠂� �10O �O  �/?1 �O  z+ /े䜂 
�}$O/?ल ��0? �?$? :P। 

A. �I- �I_}�?� B. ABC �0?9ल999 

C. �I9O9 �I_}�?� D. �K!कᕍ� �I}� 
 

Q74. _________ is a geometrical progression which reveals the steadily decreasing costs 

for the accomplishment of a given repetitive operation, as the identical operation is 
increasingly repeated. 

A. Learning curve B. Simulation 

C. Linear programming D. Assignment 

Q74. �- ��9I ��9/?0 �+1O>0 �? ?K:1?= -?$? �? 1:? :K$? :P $K ________ �� �I#Kत⑍$1 ्䵦O#I (}�0K/O/र�ल 

्䵚K्䵇O90) :K$I :P �K �9 -?1�-?1 :K0O =?लO �+1O>0 �K +ू1? �10O �O  ;ल� ल�?$?1  �$I �? 1:I �I}टὍ9 �? �Iल?9? �1$I :P। 

A. ल-0�ं �=� B. 99म⹍0IलO>0 

C. लI-001 �K्䵇?9/?� D. 
9?�0/ै䠂� 
 

Q75. EOQ = 120 units carrying cost per unit per annum = Rs. 20 buying or ordering cost per 
order = Rs. 40 Annual requirement of raw material is ________. 

A. 1296 units B. 3600 units 

C. 60 units D. 4600 units 

Q75. EOQ = 120 0ू-0टὍ9, �P 91�� (carrying) �I}टὍ9 ्䵚-$ 0ू-0� ्䵚-$ =}� = y. 20, �1I? 
%=? �!�91�� �I}� ्䵚-$ 

�!�1 = y. 40, �चᩍ�O /?ल �O  ;ल� 9?ल?0? �=�0�$? _________ :K�I। 

A. 1296 0-ू0टὍ9 B. 3600 0-ू0टὍ9 

C. 60 0-ू0टὍ9 D. 4600 0-ू0टὍ9 

 

Q76. __________ indicates the level of operation below which it is not justifiable to pursue 

production. 

A. Breakeven point B. Indifference point 

C. Shutdown point D. Difference point 
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Q76. __________ �+1O>0 �O  �9 }$1 �? 9��O $ ?O$? :P }�9�O  0I�O, ्䵚K!]>0 �?1I 1�0? ���$ 0:I� 1:$? (़㰿?0?O �? 
9L?? 0:I� 1:$?)। 

A. }O��==0 +I�?� B. �_m!फ⬼1ै䠂9 +I�?� 

C. >�!?�0 +I�?� D. )!फ⬼1ै䠂9 +I�?� 
 

Q77. Virtual Access Method (VAM) is used in _________. 

A. Simulation B. Transportation 

C. Time series analysis D. Network analysis 

Q77. =�I�
ल �]9O9 /P%! (VAM) �? �+0K� ��9/े䜂 ��0? �?$? :P? 

A. 99म⹍0IलO>0 B. र??9+K�े>0 

C. �?�/ 9I1Iज᰼ �0?9ल999 D. 0P�=��  �0?9ल999 

 

Q78. _________ is the price which one unit of firm charges for a product supplied or 
service rendered to another sub unit of same firm. 

A. Marginal pricing B. Cost plus pricing 

C. Transfer pricing D. Contract pricing 

Q78. __________ =: ्䵚?�9 :P �K ��9I ़㰿/� �I �� 0ू-0�, �9I ़㰿/� �I ��9I 9--0ू-0� �K +:I?�?� �� ्䵚K!]� 0? �,1 
्䵚??0 �I �� 9==�9 �O  ;ल� �?�� �1$I :P। 

A. /?��-0ल �?�99?� B. �I}� oल9 �?�99?� 

C. र??9,1 �?�99?� D. �ौ䰂रPकᕍ� �?�99?� 

 

Q79. __________ is a budget which by recognizing the difference between fixed, semi 
variable and variable costs is designed to change in relation to level of activity. 

A. Flexible budgeting B. Functional budgeting 

C. Fixed budgeting D. Master budgeting 

Q79. ________ �� �9? -ज᰼� :K$? :P }�9O �़㰿]}!, 9O/I-=P910O--ल �1 =P910O--ल �I}टὍ9 �O  -I� �O  
m$1 �K >?;/ल 

�1$O :I�, �}]�==�I �O  लO=ल �O  9?%-9?% -?ल0O �O  ;ल� ]!�?�0 ��0? �?$? :P। 

A. फ़幍लP_कᕍ9--ल -ज᰼/�?� B. फ⬼? कᕍ>0ल -ज᰼/�?� 

C. �फ⬼कᕍ}! -ज᰼/�?� D. /?}�1 -ज᰼/�?� 

 
 

www.mseducationtv.com



 

Adv. No. 7/2015 Cat No. 07, Auditor (Local Audit Department, Haryana) 

 Morning Session 

 

Page 22 of 28 

 

Q80. Trend analysis is significant for _________. 

A. Profit planning B. Capital budgeting 

C. Working capital management D. Forecasting and budgeting 

Q80. रे䜂! (Trend) �0?;ल;99 ��9�O  ;ल� /:त⑍=+ू#� :P? 

A. ल?. �I oल?-0?� �O  9ल� B. �P =+�ल -ज᰼/�?� �O  9ल� 

C. =��ं� �P =+�ल �O  /P0O�/ै䠂� �O  9ल� D. +=ू?�0I/?0 (फ⬼K1�?_}�?�) �1 -�/�?� �O  9ल� 

 

Q81. Responsibility centre is _________. 

A. Cost centre B. Production centre 

C. Revenue centre D. Profit centre 

Q81. 1P}+I}m9--;ल�I 9ै䠂�1 ]0? :P? 

A. �I}� 9ै䠂�1 B. �K!कᕍ>0 9ै䠂�1 

C. 91=Pm0ू 9ै䠂�1 D. ल?. 9ै䠂�1 
 

Q82. Costs of resources consumed by activities are grouped into ___________. 

A. Cost pools B. Cost object 

C. Cost driver D. Cost resource 

Q82. �}]�==�I� द♍=?1? �}$O/?ल ��� �� 919K9ेज᰼ �I �I}टὍ9 �K ��9 ्䵇I+ /े䜂 1�? �?$? :P? 

A. �I}� +लू㉍9 B. �I}� �m�Pकᕍ� 

C. �I}� ि?�=1 D. �I}� 919K9� 
 

Q83. A company, other than an Indian company, would be a resident in India for FY 2012-
13, if during that year its control and management is situated ________. 

A. Partly in India B. Wholly in India 

C. Wholly or partly in India D. Any Place in India other than Kerala 

Q83. �� �म⹍+0I, �K �� .?1$I0 �म⹍+0I 0 :K, �K ==त⑍$=}� 2012-13 �O  ;ल� .?1$ �? -0=?9I (1Pज᰼I!े䜂� �0 ��]!0?) /?0? 
�?��? 
�1 �9�? �� रKल �1 /P0O�/ै䠂� ________ }}%$ :K। 

A. �?9>� z+ 9O .?1? /े䜂 B. +1ूI ?1: 9O .?1? /े䜂 

C. +1ूI ?1: 9O 0? �,1 �?9>� z+ 9O .?1? /े䜂 D. �O 1ल �O  
ल?=? .?1? /े䜂 ��9I .I }-?0 /े䜂 
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Q84. Mr. A incurred short term capital loss of Rs.10000 on sale of shares through the 
national stock exchange. Such loss can be set off against __________. 

A. Both short term capital gain and long term 

capital gain 

B. Only against short term capital gain 

C. Only against long term capital gain D. Any head of income 

Q84. ्䵦I/?0 A 0O 0P>0ल }�I� �]9�े䜂� �O  ज᰼91� >O01 -O�0O +1 y. 10000 �? >I�� �/� �P =+�ल लI9 � ?0?। �9 $1: �O  
लI9 (:?-0) �K ��9�O  9/� (
�े䜂}�) 9P� �़㰿 ��0? �? 9�$? :P? 

A. >I�� �/� �P =+�ल �O0 �1 लौ䰂� �/� �P =+�ल �O0, .K0ो䬂 �O  
9/्䵌 

B. �O =ल >I�� �/� �P =+�ल �O0 �O  9/्䵌 

C. �O =ल लौ䰂� �/� �P =+�ल �O0 �O  9/्䵌 D. �0�/ �O  ��9I .I :P! �O  9/्䵌 

 

Q85. Where an assessee has two house properties for self occupation, the benefit of nil 
annual value will be available in respect of _________. 

A. Both properties B. The property which acquired/constructed first 

C. Any one of the properties at the option of 

assessee 

D. Both properties will be taxed 

Q85. �:?? ��9I �1 -0/?�91$I (
9P9I) �O  -0�I =?9 (9Pल㉍़㰿 �]0I+O>0) �O  ;ल� ?K :?�9 ्䵚I+�Iज᰼ :ो䬂 $K -0ल �0I
ल =Pल㉍0 ू�? 
ल?. ��9�O  9म⹍-m/ /े䜂 ;/लO�?? 

A. .K0ो䬂 �I+�ीज᰼ �O  9ल� B. �9 �I+�ी �O  9ल� _�9O +:लO �1I.? 0? -0=?0? �0? -? 

C. .K0ो䬂 �I+�ीज᰼ /े䜂 9O ��9I �� �O  9ल� _�9�? ?00 �1-
-0/?�91?I (
9P9I) �1?? :P 

D. .K0ो䬂 �I+�ीज᰼ +1 �Pकᕍ9 9ल0? �?��? 

 

Q86. Where there is a decision to increase the D.A in March 2012 with retrospective effect 
from 1.4.2009 and the increased D.A is received in April, 2012, the increase is taxable 

___________. 

A. In the previous year 2011-12 B. In the previous year 2012-13 

C. In the respective year to which it relate D. In the year 2010-2011 

Q86. �:?? /?�� 2012 /े䜂 D.A. /े䜂 -?Kत⑍$1I �10O �? ़㰿P 9ल? 1.4.2009 9O +ू=�}0?+I ्䵚.?= (1PरK}+P}]�= �़㰿P ]�) �O  9?% ;ल0? 
�0? :K �1 -?? :I� D.A. 
्䵚Pल, 2012 /े䜂 ्䵚?o$ :I� :K $K 0: -?Kत⑍$1I _________ �P]9O--ल :K�I। 

A. =+?लO =}� 2011-12 /े䜂 B. =+?लO =}� 2012-13 /े䜂 

C. �9 =}� /े䜂 _�99O 0: 9म⹍-m/ 1�?I :P D. =}� 2010-11 /े䜂 
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Q87. Income from letting of machinery, plant and furniture is chargeable to _________. 

A. Always to profits and gains of business and 

profession 

B. Always under income from other source 

C. Income from other source if not chargeable 

under the head profits and gains from business 

and profession 

D. Under house property 

Q87. />I01I, oल?�� �1 ़㰿0I�1 �K ��1?� +1 ?O0O 9O :I� �0�/ ��9/े䜂 �?�े--ल :P? 

A. :/O>? :I �I�फ⬼टὍ9 �?! �Om9 (gains) �, --�0O9 �?! 
�Kफ⬼O >0 /े䜂 

B. :/O>? :I �0�/ ቸ硬I/ 
.1 9K9� /े䜂 

C. �0�/ ቸ硬I/ 
.1 9K9� /े䜂, 
�1 �I�फ⬼टὍ9 �?! �Om9 

(gains) ቸ硬I/ --�0O9 �?! �Kफ⬼O >0 �O  :P! /े䜂 ??�े--ल 0:I? :K 
D. :?�9 �I+�ी �O  
??��? 

 

Q88. Which one of the following best explains 'Money'? 

A. It is a medium for producing capital goods. B. It is a means for redistributing wealth among 

people. 

C. It is a common denominator for measuring 

value. 

D. It is a mechanism for resource allocation. 

Q88. �0/े䜂 9O �L0 9? ==�ल㉍+ '/0' �I 9=ोत⑍$/ }0?_0? ?O$? :P? 

A. 0: �P =+�ल �Iड⅍9 �? �m+?.0 �10O �O  9ल� �� /?o0/ :P। B. 0: लK�ो䬂 �O  -I? 9?+.? (=Pल㉍-) �? +I0ु䄃 ==?1+ �10O �? 
9?/0 :P। 

C. 0: /लू㉍0 (=Pल㉍0ू) �K /?+0O �? 9=�-0�  :1 
-=? /लू㉍0 

�?�0O =?ल? (�I/0 )!0I9/0O�1) :P। 
D. 0: 919K9� �K 
लK�O � �10O �I �?0�==// :P। 

 

Q89. Convertibility to the Indian rupee implies that _________. 

A. The Indian Rupee can be exchanged by the 

authorized dealers for the purpose of education. 

B. The Indian Rupee can be exchanged for any 

major currency for the purpose of trade in goods 

and services. 

C. The Indian Rupee can be exchanged for any 

major currency for the purpose of financial assets. 

D. The Indian Rupee can be exchanged for any 

major currency for the purpose of agriculture. 
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Q89. .?1$I0 y+0O /े䜂 �m=/��--;ल�I �? /$ल- :P _________ । 

A. ��I�O >0 �O  �oO�0 9O 
//�ृ? !Iल1 .?1?I0 y+0O �? 
==-0/0 (�कᕍ9?े䜂�) �1 9�?O :ै䠂। 

B. �Iड⅍9 �1 9==�99� /े䜂 �?1K-?1 �10O �O  �oO�0 9O .?1?I0 

y+0O �? ==-0/0 (�कᕍ9?े䜂�) ��9I .I �/I� /Iर? (/Oज᰼1 
�1ै䠂9I) �O  9?- ��0? �? 9�?? :P। 

C. ,?�0P_m>0ल 
9OटὍ9 �O  �oO�0 9O .?1?I0 y+0O �? ==-0/0 

(�कᕍ9?े䜂�) ��9I .I �/I� /Iर? (/Oज᰼1 �1ै䠂9I) �O  9?- ��0? �? 
9�?? :P। 

D. �O?I �O  �oO�0 9O .?1?I0 y+0O �? ==-0/0 (�कᕍ9?े䜂�) 

��9I .I �/I� /Iर? (/Oज᰼1 �1ै䠂9I) �O  9?- ��0? �? 9�?? :P। 

 

Q90. In the context of balance of payments portfolio investment relates to ___________. 

A. Takeover of foreign companies. B. Purchase of shares in foreign companies. 

C. Purchase of real estate in foreign countries. D. Private remittance to foreign countries 

Q90. +O/ै䠂टὍ9 �O  -�?0? �O  9�?.� /े䜂 +K��़㰿K;ल0K �m=P}�/ै䠂� ��99O 9म⹍-}m/$ :P? 

A. ==.O>I �म⹍+-00ो䬂 �? 
//्䵇:+ (�O��=1)। B. ==.O>I �म⹍+-00ो䬂 /े䜂 >O01ो䬂 �I �1I.। 

C. ==.O>ो䬂 /े䜂 
?ल 9म⹍+_m? (910ल �}�O�) �I �1I.। D. ==.O>ो䬂 �K -0�I/�K+0I0 /0�O}+ (1P9/�ै䠂9)। 
 

Q91. Which one of the following is considered as non debt creating foreign investment 
inflow? 

A. Foreign direct investment B. External assistance 

C. Borrowing from IMF D. Commercial borrowings 

Q91. -0म⹍0?���$ /े䜂 9O ��9O 0I0 !Pm� �ि�/��� ,I1O0 �m=O}�/ै䠂� �0़㱸लK (�# 
9र�� ==?O>I -0=O> 
�$=?�:) /?0? �?$? :P? 

A. �m0्䵌 ==.O>I -0=O> (,I1O0 !?01Pकᕍ� �m=P}�/ै䠂�) B. -?}0 9:?0?? (�कᕍ9�0�ल 
99}�ै䠂9) 

C. IMF 9O �/?1 लO0? D. =?++_य0� �/?910?	 (�/9>�0ल -I1K�?गᝍ9) 

 

Q92. The growth process that is sustainable and yields broad-based benefits and ensures 

equality of opportunity for all is termed as ________. 

A. Faster growth B. Inclusive growth 

C. Balanced growth D. Sustained growth 

Q92. =: ्䵇K% ्䵚I9O9 �K /��?� :K$I :P �1 ==}$र$-�/?1I (्䵜I!--O}!) ़㰿?0?O ?O$I :P �1 9.I �O  ;ल� 
=91ो䬂 �I 9/?0$? 
9I-0}��$ �1$I :P, ]0? �:ल?$I :P? 

A. ?I}?1 ==�?9 (,?}�1 ्䵇K-) B. 9/?=O>I ==�?9 (�mकᕍल9ू9= ्䵇K-) 

C. 9??I9ल? ==�?9 (-Pलै䠂}! ्䵇K-) D. /��?� ==�?9 (9}�े䜂! ्䵇K-) 
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Q93. Credit will contract when ________. 

A. Bank rate is lowered B. Open market operations policy of buying 

government bond is adopted 

C. Reserve requirement ratio is lowered D. Bank rate is raised 

Q93. िO ]!� ;9�I ]$? :P �- ___________ 

A. -ै䠂� 1O�  �?0? �??? :P B. 91�?1I -ौ䰂! �1I.0O �I �+0 /?�े� �+1O>m9 +I9ल9I 

+0?� �??I :P 

C. 91ज᰼=� 91कᕍ=?01/ै䠂� 1O9>0K �K  �?0? �??? :P D. -ै䠂� 1O� -^?0? �??? :P 
 

Q94. Which one of the following situations occur during the period when borrowers and 

lenders expect inflation? 

A. The nominal rate of interest exceeds real rate 

of interest. 

B. The real rate of interest exceeds the nominal 

rate of interest. 

C. The nominal rate of interest equals the real 

rate of interest. 

D. Nominal and real rate of interest become zero. 

Q94. �- �/?1 लO0O =?लO �1 ?O0O =?लO /:��?�//I्䵖?},I-$ (�mMलO>0) �I �म⹍/I? 1�$O :ै䠂 $K �0/े䜂 9O �L0 9I +91}}%-$ �m/ 

लO$I :P? 

A. m0?� �? 0I9/0ल 1O�, m0?� �O  910ल 1O� 9O 
//� :K �??? 
:P । 

B. m0?� �? 910ल 1O�, m0?� �O  0I9/0ल 1O� 9O 
//� :K �??? 
:P । 

C. m0?� �? 0I9/0ल 1O�, m0?� �O  910ल 1O� �O  -1?-1 :K �??? 
:P । 

D. m0?� �O  0I9/0ल �1 910ल 1O� >mू0 :K �??O :ै䠂 । 

 

Q95. Which one of the following tax is levied by Central Government? 

A. Taxes on mineral rights B. Taxes on consumption and sale of electricity 

C. Taxes on capital gains D. Tax on motor vehicles 

Q95. �0/े䜂 9O �L0 9? �P]9 �O m्䵖 91�?1 द♍=?1? =9ूल? �?$? :P? 

A. 9/01ल 1?�टὍ9 +1 �Pकᕍ9 B. --�लI �O  �}?O/?ल �1 --्䵅I +1 �Pकᕍ9 

C. �P =+�ल �Om9 (gains) +1 �Pकᕍ9 D. /K�1 =?:0ो䬂 +1 �Pकᕍ9 
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Q96. Lead Bank scheme is designed to ____________. 

A. Regulate the use of credit. B. Control the activities of non-banking financial 

institutions. 

C. Help the weaker sections in a particular district. D. Have a more concentrated effort of a bank in a 

particular district. 

Q96. लI! -ै䠂� }�I/ �K ��9;ल� ]!�?�0 ��0? �0? :P? 

A. ्䵅O )!� �O  �}?O/?ल �K -009/? �10O �O  9ल�। B. �P1--ै䠂��? � फ⬼?�0P_m>0ल �?}�IटὍ0ू>m9 �I �_कᕍ�==�Iज᰼ �? 
-00m्䵔+ �10O �O  9ल�। 

C. ��9I _�ल? ==>O} /े䜂 �/�K1 =�ो䬂 �I /.. �10O �O  9ल�। D. ��9I _�ल? ==>O} /े䜂 -ै䠂� �I 
//� �O _mर? �K9>>ो䬂 �O  
9ल�। 

 

Q97. Which method of costing is best suited for interior decorator? 

A. Job costing B. Contract costing 

C. Process costing D. Operating costing 

Q97. �� ���I9101 !O�K1O�1 �O  ;ल� �0/े䜂 9O �L0 9? ल?�$--0/?�1# 9-9O �+0I]$ :K�?? 

A. �I- ल?�?--0/?�1+ B. 9?==.? ल?�?--0/?�1+ 

C. ��्䵅0? ल?�?--0/?�1+ D. �??ल0I0 ल?�?--0/?�1+ 

 

Q98. Which of the following is an example of variable cost? 

A. Property taxes B. Interest on capital 

C. Direct material cost D. Depreciation of machinery 

Q98. �0/े䜂 9O �L0 9? ==�ल㉍+ +91=$I ल?�$ �? �??:1# :P? 

A. 9?+_m? �1 B. +ू	�I +1 m0?� 

C. �m0्䵌 9?/्䵇I ल?�? D. />I01I �? /लू㉍0्䵩?9 

 

Q99. Which of the following is a planned result than an enterprise aims to attain? 

A. Forecast B. Budget 

C. Marginal cost D. Production cost 
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Q99. -0म⹍0;ल��$ /े䜂 ]0? ्䵚?o$ �10O �O  ;ल� �द♍0/ �O  �्䵌O�0ो䬂 �I $Iल0? /े䜂 �� 0K}�$ +91#?/ :P? 

A. +=ू?�0I/?0 B. -�� 

C. 9I/?m?� ल?�? D. �m+?.0 ल?�? 

 

Q100. Which type of audit is more suitable where there is no satisfactory system of internal 

check? 

A. Continuous audit B. Periodical audit 

C. Balance sheet audit D. Management audit 

Q100. ��9 ्䵚�?1 �I लO�? +1I�? 
�/� �+0I]$ :P �:?? ��$91� �??� �I �K� 9�$K}�0� ्䵚#?लI /L�ू? 0:I� :P? 

A. 9?? ्लO�? +1I्䵌? B. �=//� लO�? +1I्䵌? 

C. ?Iल0-+्䵔 लO�? +1I्䵌? D. �-?/0 लO�? +1I्䵌? 
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Q1. Swami Dayanand Saraswati founded _______. 

A. Brahmo Samaj B. Indian National Congress 

C. Arya Samaj D. Indian National Army 

Q1. }=?.I &/?(�& @0}=$I (O ______ �I }%?+(? �I। 

A. }}/ @/?� B. .?1,I0 1?�रI0 �?@्䵇O@ 

C. �0/ @/?� D. .?1,I0 1?�रI0 @O0? 
 

Q2. _______ won the 2017 Champions Trophy cricket tournament. 

A. India B. Australia 

C. Pakistan D. South Africa 

Q2. 2017 �ै䠂++/�@ ्䵏I,I }ि�O � �ू(??.े䜂� .े䜂 ___________ �I �I$ AI�। 

A. .?1, B. ऑ�रOलि0? 

C. +?���,?0 D. .्䵌ि+ 
�I�? 
 

Q3. Kaziranga National Park in Assam is a sanctuary for ________. 

A. Rhinoceros B. Tiger 

C. Lion D. Elephant 

Q3. 
@. .े䜂 }}%$ �?�I0��? 0?�्䵏I/ �द♍/?( ___________ �O  ;ि� �� 
-/?0o/ AP। 

A. �ै䠂ड? B. -?  

C. >O1 D. A?-I 
 

Q4. Who is the current Union Minister of Finance? 

A. Rajnath Singh B. Smriti Irani 

C. Arun Jaitley D. Venkaiah Naidu 

Q4. =$?.?( �े䜂 ्䵖I/ +=m$ .�्䵔I �L( AP? 

A. 1?�0?- ल@@A B. �/-ृ, �1?0I 

C. 
y+ �OटिI D. =े䜂�P 0? 0?0डू 
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Q5. Rakhigarhi, which is considered to be the origin of Harappa civilization, is in ______ 
district of Haryana. 

A. Panipat B. Hisar 

C. Sirsa D. Faridabad 

Q5. 0?�I�^I, }�@O A]o+? @m/$? �? �m+}m$ }%ि .?(? �?$? AP, =A A90/?#? �O  ______ }�िO .े䜂 }}%$ AP। 

A. +?0I+, B. 9A@?1 

C. ल@1@? D. ,1I.?-?. 
 

Q6. Under which Mughal ruler did Haryana come under the control of the British? 

A. Akbar B. Bahadur Shah 

C. Shah Alam D. Wajid Ali 

Q6. }�@ .I�ि >?@� �O  >?@( �?ि .े䜂 A90/?#? +0 
�्䵇O�ो䬂 �? )(/�्䵔# }%?++$ AI� %?? 

A. 
�-1 B. -A?.I1 >?A 

C. >?A �ि/ D. =?��. 
िI 
 

Q7. Ravindra Singh Bisht, the famous archaeologist, worked in Banawali, Hisar in the 
_______ civilization. 

A. Gangetic Plain B. Indus Valley 

C. Vedic period D. Persian 

Q7. ्䵚;@p +I0?$m=+=द♍ 0=I�्䵖 ;@�A -?�� (O 9A@?0 �O  ?(?=िI .े䜂 _______ @m/$? +0 �?. }�/?। 

A. �@�? �? /P.?0 B. ल@@/I  ?टI 

C. =P9.� �?ि D. फ?1@I 
 

Q8. The Indus Valley Civilisation is a _______ civilisation. 

A. Bronze Age B. Iron Age 

C. Stone Age D. Dark Age 

Q8. ;@�'I  ?�I @m/$? �� _______ @m/$? AP। 

A. �?@�0 0I� B. िLA 0I� 

C. +???+ 0I� D. 
@/�?1 0I� 
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Q9. Mrs. Sushma Swaraj, the current Minister of External Affairs of India, was born in 
________. 

A. Ambala Cantt B. Faridabad 

C. Rohtak D. Rewari 

Q9. =$?.?( -?0$ �I +=&O> .�्䵔I, ्䵦I.$I @I?.? }=0?� �? �m. _______ .े䜂 AI� %?। 

A. 
म⹍-?ि? �ै䠂 ट B. ,1I.?-?. 

C. 1KA,� D. 1O=?)I 
 

Q10. Who won the first ever individual Olympic gold medal for India? 

A. Sakshi Malik B. Geeta Phogat 

C. Vijendra Singh D. Abhinav Bindra 

Q10. }�@(O -?0$ �O  ;ि� 
? $� �? +Aि? �ि�++� }=#? +&� �I$?? 

A. @?िI /लि� B. �I,? ,K�ट 

C. ==�Ooर ल@@A D. 
ल.0= --@र? 
 

Q11. According to Government reports, ____ percent of total inhabited villages of Haryana 
are electrified. (Rural Electrification Report as on 30.06.2017) 

A. 90 B. 100 

C. 75 D. 82 

Q11. @0�?0I 90+K�ो䬂 �O  
(I@?0, A90/?#? �O  �I ि ?@O AI� �?�=ो䬂 .े䜂 @O ____ ्䵚)$>$ �??=ो䬂 �? +=द♍/I$I�0# AK �/? AP। 
(30.06.2017 $� �I ्䵇?.I# +=द♍/I$I�0# 90+K�?) 

A. 90 B. 100 

C. 75 D. 82 

 

Q12. What is the new name of Ballabgarh? 

A. Balrampradesh B. Balramgarh 

C. Balrampur D. Balramganj 

Q12. ?ल㉍ि-�^ �? (/? (?. ]/? AP? 

A. -ि1?/�.O> B. -ि1?/�] 

C. -ि1?/+I1 D. -ि1?/�@� 
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Q13. Union Government of India selected ________ to be developed as the First Smart City 
of India. 

A. Rohtak B. Rewari 

C. Faridabad D. Gurugram 

Q13. -?0$ @0�?0 (O -?0$ �? +Aि? }.?�? ;@�I ?(?(O �O  ;ि� _________ �? �/( }�/? AP। 

A. 1KA,� B. 1O=?)I 

C. ,1I.?-?. D. �Iy्䵇?/ 

 

Q14. Which is the national highway between Ambala and Haridwar? 

A. NH 8 B. NH 72 

C. NH70 D. NH 71 

Q14. 
�??ि? �0 A90द♍=?0 �O  ?I� �L( @? 0?�्䵏I/ 0?�.?�? AP? 

A. NH 8 B. NH 72 

C. NH70 D. NH 71 

 

Q15. Who wrote 'Jhadufiri', the first novel written in Haryanvi language? 

A. Surender Sharma B. Rajaram Shastri 

C. Deep Chand Bahman D. Surdas 

Q15. A90/?#=I -??? .े䜂 ;ि�O �� ्䵚%. �+m/?@ '�?!ू},0I' �I 0�(? }�@(O �I %I? 

A. @I1े䜂र >/?/ B. 1?�?1?/ >?�रI 

C. .I+ �@. -A/0 D. @1ू.?@ 

 

Q16. Several words in Haryanvi are similar to words in _______ language. 

A. German B. Finnish 

C. Spanish D. French 

Q16. A90/?#=I �O  �� >m& _______ -??? �O  >m&ो䬂 �O  @.?( Aै䠂। 

A. �//0 B. �,-0> 

C. �+O-0> D. �े䜂 � 
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Q17. Which of the following is NOT an autobiography of Kapil Dev? 

A. By God's Decree B. Cricket my style 

C. Straight from the Heart D. Sunny Days 

Q17. )(o(;ि��$ .े䜂 @O �L( @I }�$??, �++ि &O= �I �� �m.�I=(I (AI� AP? 

A. -?� �Iड⅍@ )ड्䵅I B. �्䵅�O ट /?� �ट?�ि 

C. �रOट �I/ . A?ट/ D. @o0I डO� 

 

Q18. Surender Sharma is a very famous Haryanvi _________. 

A. Folklore artist B. Satirist 

C. Painter D. Sculptor 

Q18. @I0े䜂्䵖 >.?? �� ?AI$ ्䵚;@p A90/?#=I _________ AP। 

A. िK��I, �ि?�?1 B. }0@��?1 

C. ��र�?1 D. /-ू,/�?1 
 

Q19. Which one of the following rivers does NOT flow though Haryana? 

A. Ghaggar B. Indori 

C. Dohan D. Beas 

Q19. )(o(;ि��$ (9&/ो䬂 .े䜂 @O �L( @I (&I, A90/?#? @O AK�0 (AI ?A$I AP? 

A.  _�1 B. �o.K1I 

C. .KA0 D. m0?@ 

 

Q20. The ______ district receives the maximum rainfall among all districts of Haryana. 

A. Kurukshetra B. Faridabad 

C. Ambala D. Hisar 

Q20. ______ }�िO .े䜂 A90/?#? �O  @-I }�िो䬂 �I $Iि(? .े䜂 @?@O 
/'� =??? AK$I AP। 

A. �I yिOर B. ,1I.?-?. 

C. 
म⹍-?ि? D. 9A@?1 
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Q21. Dharuhera Industrial Town, the fastest growing Industrial Area is in _______District 
of Haryana. 

A. Rewari B. Gurugram 

C. Hisar D. Faridabad 

Q21. '?yAO0? ��!}}्䵏/ि �?�(, @?@O $O� �)$ @O ?^(O =?ि? �द♍/K/�� ्䵌O्䵔, A90/?#? �O  _______ }�िO .े䜂 AP। 

A. 1O=?)I B. �Iy्䵇?/ 

C. 9A@?1 D. ,1I.?-?. 
 

Q22. Haryana does NOT share its boundaries with _______. 

A. Delhi B. Punjab 

C. Uttar Pradesh D. Gujarat 

Q22. A90/?#? �I @I.? ____________ �I @I.? @O @�I AI� (AI� AP। 

A. 9.ल㉍िI B. +@�?- 

C. �m,1 �.O> D. �I�1?, 

 

Q23. Total area of Haryana is _______square kilometres. 

A. 44,312 B. 44,212 

C. 55,412 D. 33,612 

Q23. A90/?#? �? �I ि ्䵌O्䵔,ि _______ =�? }�िK.I�0 AP। 

A. 44,312 B. 44,212 

C. 55,412 D. 33,612 

 

Q24. There are _____ districts in Haryana state. 

A. 22 B. 21 

C. 20 D. 14 

Q24. A90/?#? 0?जᱍ/ .े䜂 _____ }�िO Aै䠂। 

A. 22 B. 21 

C. 20 D. 14 
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Q25. Where is the high court of Haryana located? 

A. Faridabad B. Gurugram 

C. Chandigarh D. Panchkula 

Q25. A90/?#? �I �चᩍ� m/?/?ि/ �A?� }}%$ AP? 

A. ,1I.?-?. B. �Iy्䵇?/ 

C. �@डI�] D. +@��I ि? 
 

Q26. Sahibi river finally drains into the _______. 

A. Arabian sea B. Sutlej 

C. Beas D. Yamuna 

Q26. @?9A?I (&I 
�$ .े䜂 ______ /�0$I AP। 

A. 
1- @?�1 B. @,ि� 

C. m0?@ D. 0/I0? 
 

Q27. The Chinkara Breeding centre is in __________. 

A. Bhiwani B. Kurukshetra 

C. Sirsa D. Kaithal 

Q27. /���?0? ्䵜I)! �� @े䜂�0 __________ .े䜂 AP। 

A. ल.=?0I B. �I yिOर 

C. ल@1@? D. �P -ि 

 

Q28. Fatehabad is famous for ___________. 

A. Watches B. Wool 

C. Cotton Threads D. Jute 

Q28. ,$OA???& ___________ �O  ;ि� ्䵚;@p AP। 

A.  ))0?? B. �0 

C. @,ूI /?�O D. �टू 
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Q29. Which Haryana city is called 'Power house of boxing'? 

A. Rohtak B. Bhiwani 

C. Hisar D. Rewari 

Q29. }�@ A90/?#? >A0 �K "?I}]@�� �? +?=0 A?�@" �A? �?$? AP? 

A. 1KA,� B. ल.=?0I 

C. 9A@?1 D. 1O=?)I 
 

Q30. Pick the odd one out: 
 

Nose, Mouth, Eye, Ear, Skin 

A. Nose B. Skin 

C. Ear D. Eye 

Q30. 
@��$ �? �/( �0े䜂: 
 

(?�, .I�A, �?�, �?(, m=�? 

A. 0?� B. m=�? 

C. �?0 D. �?� 

 

Q31. Complete the analogy. 
 
ABD:FGI :: KLN: 

A. NPQ B. SUW 

C. UVX D. LMN 

Q31. @.?($? �K +ू0? �0े䜂। . 
 

ABD:FGI :: KLN: 

A. NPQ B. SUW 

C. UVX D. LMN 

 

Q32. What should come at the place of question mark (?) in the following number series? 

 
4, 7, 12, 19, 28, 39, 52, ? 

A. 58 B. 59 

C. 67 D. 72 
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Q32. )(o(;ि��$ @�_/? ्䵦र��ि? .े䜂 ्䵚�( /�}( (?) �O  }%?( +0 ]/? AK(? �?9A�? 

 
4, 7, 12, 19, 28, 39, 52, ? 

A. 58 B. 59 

C. 67 D. 72 

 

Q33. In a certain code, COURSE is written as 568943 and ROAR is written as 9629. How is 

RACE written in that code? 

A. 8932 B. 5894 

C. 9253 D. 4329 

Q33. �� )(}��$ �K! .े䜂, COURSE �K 568943 �0 ROAR �K 9629 ;ि�? �?$? AP। �@ �K! .े䜂 RACE �K ]/? ;ि�? 
�?��?? 

A. 8932 B. 5894 

C. 9253 D. 4329 

 

Q34. 35 - [3 + {26 - (9 - 6)}] = ________ 

A. 11 B. 9 

C. 10 D. 8 

Q34. 35 - [3 + {26 - (9 - 6)}] = ________ 

A. 11 B. 9 

C. 10 D. 8 

 

Q35. There are 50 fruits in a basket out of which 9 are apples. If you pick up a fruit from the 
basket, what is the probability of picking an apple? 

A. 9/50 B. 50/9 

C. 1/50 D. 8/50 

Q35. �� �K�0I .े䜂 50 ,ि Aै䠂 }�(.े䜂 @O 9 @O? Aै䠂। /9& �+ �K�0I @O �� ,ि � ?$O Aै䠂, $K �� @O? �K �I((O �I ]/? @�-?=(? 
AP? 

A. 9/50 B. 50/9 

C. 1/50 D. 8/50 

 

Q36. (60% of 360) - (360% of 60) = _________ 

A. 1 B. 2 

C. 0 D. 3 
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Q36. (360 �? 60%) - (60 �? 360%) = _______ 

A. 1 B. 2 

C. 0 D. 3 

 

Q37. Rati purchased 500 glasses at the rate of Rs.90 per glass. She sold the glasses at 
Rs.120 each. What was her profit/loss percentage? 

A. 32.50% B. 33.33% 

C. 35.25% D. 34.90% 

Q37. 0$I (O 90 y+/O ्䵚)$ /�ि?@ �I &0 @O 500 /�ि?@ �0I&?। �@(O ्䵚m/O� /�ि?@ �K 120 y+/O .े䜂 ?O� 9&/?। �@�? ि?- 

/ A?)( ्䵚)$>$ }�$(? %?? 

A. 32.50% B. 33.33% 

C. 35.25% D. 34.90% 

 

Q38. The SI unit of electric charge is _________. 

A. Ampere B. Volt 

C. Coulomb D. Watt 

Q38. +=द♍/I$ �=O> �I �@�� ��?� _________ AP। 

A. एम⹍+O01 B. =Kल㉍ट 

C. �ूिम⹍- D. =?ट 
 

Q39. __________ is an example of a non-metal. 

A. Sulphur B. Potassium 

C. Magnesium D. Iron 

Q39. __________, �P0-'?$I �? �� �&?A0# AP। 

A. @ल㉍,1 B. +KटPल>0/ 

C. /P�0Iल>0/ D. िKA? 
 

Q40. The ______ in human digestive system is commonly known as the 'food pipe'. 

A. Tongue B. Oesophagus 

C. Stomach D. Throat 
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Q40. .?(= +?�( $�्䵔 .े䜂 ______ �K �.$L0 +0 -K�( +?�+ �O  (?. @O �?(? �?$? AP। 

A. �I. B. ्䵇?@0िI 

C. +Oट D. �ि? 
 

Q41. ________ is the synonym of "peer". 

A. Pressure B. Fruit 

C. Colleague D. Look into 

 

Q42. _________ is the antonym of "beneficiary". 

A. One who receives B. Sponsorer 

C. Inheritor D. Successor 

 

Q43. Identify the meaning of the idiom: 
 

"Burn the midnight oil". 

A. Enjoy someone else's money B. Waste time 

C. Spend more than you earn D. Work late into the night 

 

Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"I went to shopping with friends." 

A. With friends I went to shopping. B. To shopping I went with friends. 

C. I went shopping with my friends. D. I went to shopping with mine friends. 

 

Q45. Complete the sentence by choosing the correct word. 
 
The team of doctors successfully _______ on the patient. 

A. operated B. prescribed 

C. followed D. practiced 
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Q46. (I�O ;ि�O >m& �? +/??/=?�I >m& ?$?�/े䜂| 

 

&I�� 

A. .I0 B. 
1o0 

C. +?/1 D. /?,? 
 

Q47. (I�O ;ि�O >m& �? +=+0I$ (+=िK.) >m& ?$?�/े䜂 | 

 

�/ 

A. ==�0 B. @�0 

C. 
�O0 D. +1?�0 

 

Q48. (I�O 9&/O �/O .IA?=0O �? �+/I?]$ 
%? ?$?/े䜂| 

 

.I?A �I �?(? 

A. �Kट ि� �?0? B. ��@I @O �?िI �?0? 

C. �/I0 +1 ��1 �?0? D. +1?��, AK0? 
 

Q49. 0O�?}�� $ >m& �? ��=�( ?(?/े䜂 | 

 

A.O 
+(I ?AI�� �K ?O�I �O  @.?( AI .?((? �?9A�| 

A. -AI B. -?Aू 

C. -Aू? D. -Aू 
 

Q50. 0O�?}�� $ >m& �? ��=�( ?(?/े䜂 | 

 

.O0O �ू$O AP �?+?(I | 

A. �I,? B. �,ू? 

C. �mू,? D. �,ू?@ 
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Q51. 500 shares of Rs. 10 each were forfeited due to non-payment of call money of Rs. 6 
per share. Out of these 300 shares were re-issued at 10% discount. The amount transferred 
to capital reserve is: 

A. 2700 B. 3000 

C. 1500 D. 1800 

Q51. 10 z+� ्䵚)$ .ूल㉍/ �O  500 >O/0 .??� 0?;> �? -I�$?( ( �0(O �I =�A @O 6 z+� +0 >O/0 �m$ �0 ;ि� ��। �(.े䜂 @O 
300 >O/0 10% �ू� +0 },0 @O �?0I }�� ��। $K ?$?�� }� +ू?�I @��/ .े䜂 A}$?�$90$ �I �?(O =?िI 0?;> ]/? AK�I: 

A. 2700 B. 3000 

C. 1500 D. 1800 

 

Q52. Which among the following is the fundamental rule for recording transactions into 
nominal accounts? 

A. Debit the receiver and credit the giver B. Debit what comes in and credit what goes out 

C. Debit expenses & losses and credit gains & 

incomes 

D. Debit value received and credit value given 

Q52. (?..?्䵔 �?$ो䬂 .े䜂 िO(-&O(ो䬂 �K &�? �0(O �O  ;ि� )(o(;ि��$ .े䜂 @O �L( @? �'?0-ू$ )(/. AP? 

A. �?o, �10O =?िO �K 0?/े䜂 �1े䜂 �1 .O0O =?िO �K �/? �1े䜂 B. �K 
@.1 �,? AP �@O 0?/े䜂 �1O �1 �K -?A1 �?,? AP �@O 
�/? �1े䜂 

C. ��/ �1 A?-00ो䬂 �K 0?/े䜂 �1े䜂 �1 �?�o,0ो䬂 �1 �0 �K 
�/? �1े䜂 

D. �?o, /लू㉍0 �K 0?/े䜂 /े䜂 ड?िे䜂 �1 9.ए �ए /लू㉍0 �K �/? �1े䜂 

 

Q53. Bad debts incurred by consignee, will not transfer the burden to consignor when he is 
paid _______. 

A. Commission B. Declared commission 

C. Overriding commission D. Commission on profit 

Q53. +0O+?$I द♍=?0? =A( }�� �� !ू?$ �# �? ?K� ्䵚O?� +0 A}$?�$90$ (AI� AK�? �? �@(O _______ �? -I�$?( }�/? 
AK। 

A. �/I>0 B.  K=?, �/I>0 

C. 
�/.?=I �/I>0 D. ि?. +1 �/I>0 

 

Q54. Which account is the odd one out? 

A. Office Furniture & Equipment B. Freehold Land and Buildings 

C. Stock of raw materials D. Plant and Machinery 
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Q54. )(o(;ि��$ .े䜂 @O �L( @? �?$? 
@��$ AP? 

A. �?0?/ि0 ,0I�1 �1 �+�1+ B. �IAKल㉍ड .लू/ �1 .=0 

C. �चᩍ�O /?ि �? �टI� D. @@0@र �1 />I0 

 

Q55. Statement prepared to show the financial position at the end of the period is called 

_______. 

A. Trial Balance B. Balance Sheet 

C. Trading Account D. Profit & Loss Account 

Q55. 
=/' �O  
�$ .े䜂 +=m$I/ }}%)$ �K 9&�?(O �O  ;ि� $P/?0 +==0# �K _______ �A? �?$? AP। 

A. र?0ि -Pिे䜂@ B. -Pिे䜂@ >Iट 

C. रO)ड @� �?,? D. ि?. �1 A?-0 �?,? 
 

Q56. Which one of the following is not a wasting Asset? 

A. Mines B. Quarries 

C. Oil Field D. Patent 

Q56. )(o(;ि��$ .े䜂 @O ]/? �� 
+्䵌/ @�+}m$ (AI� AP? 

A. �?0 B. +m-1 �I �?0े䜂 

C. ,Pि?>0 D. +Oटे䜂ट 
 

Q57. Mr. X consigned goods of the cost of Rs. 20000 to his agent Mr. Y and incurred Rs. 
4000 for insurance in transit. Mr. Y took delivery of the goods after spending Rs. 6000 

towards freight. He sold 3/4 of the goods for Rs. 30000. Sales expense is Rs. 1000. Value of 
closing stock is: 

A. 7500 B. 9000 

C. 9500 D. 7750 

Q57. ्䵦I.?( X (O 
+(O ��े䜂� Y �K 20000 y+/O �I ि?�$ �? @?.?( -O�? �0 �@�O  ;ि� 4000 z+� �? +?0�.( 

(्䵏?�}ि�) ?I.? =A( }�/?। ्䵦I.?( Y (O 6000 z+� �? .?ि "Iि?� -?]? ��? �0(O �O  ??& .?ि �I @I+I&ी ्䵚?o$ �I। �mAो䬂(O 3/4 

.?ि �K 30000 z+� .े䜂 ?O� 9&/?। -?िI �0(O +0 1000 z+� �? ��? AI�। $K ?$?�� }� 
�)$. }�I� �? .ूल㉍/ ]/? AP? 

A. 7500 B. 9000 

C. 9500 D. 7750 
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Q58. Goodwill is a _______ asset. 

A. Fixed B. Current 

C. Tangible D. Intangible 

Q58. @?� �� _______ @�+}m$ AP। 

A. 
�ि B. =,//?0 

C. /,ू/ D. 
/,ू/ 
 

Q59. In the absence of partnership deed interest on loan is: 

A. no interest B. 5% 

C. 3% D. 6% 

Q59. @A-?/�$? ्䵚िO� �O  �-?= .े䜂 �# +0 m/?� }�$(? AK$? AP: 

A. �K� m0?� 0AI@ B. 5% 

C. 3% D. 6% 

 

Q60. Mr. Y followed WDV Method and SLM Method of Depreciation during 2006 and 2007 
respectively. He violated: 

A. Conservatism Principle B. Materiality Principle 

C. Consistency Principle D. Cost Principle 

Q60. ्䵦I Y (O ि.>: 2006 �0 2007 �O  &L0?( .ूल㉍/्䵩?@ �I !mल㉍/ू.!I.=I. (WDV) +=/' �0 �@.�ि.�.. (SLM) +=/' 

�? +?ि( }�/?। �(�O  द♍=?0? }�@ �Iि �? �ल㉍ि� ( }�/? �/?? 

A. z9]=?. ल@द♍?@, B. +.?-/ ल@द♍?@, 

C. @@�,,? ल@द♍?@, D. ि?�, ल@द♍?@, 

 

Q61. When transactions are incorrectly recorded they are known as _______. 

A. Technical errors B. Errors of omission 

C. Errors of commission D. Errors of duplication 

Q61. �? िO(-&O( �ि$ 90�I!? }�� �?$O Aै䠂, $K �mAे䜂 _______ �A? �?$? AP। 

A. ,�0I�I रI9ट0?? B. ��ू �I रI9ट0?? 

C. .िू �I रI9ट0?? D. .KA1?= �I रI9ट0?? 
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Q62. Audit done continuously throughout an accounting year is called _____. 

A. Complete audit B. Continuous audit 

C. Private audit D. Interim audit 

Q62. �� िO�? =?? .े䜂 @?ि -0 }�� �?(O =?िO िO�? +0I्䵌# (�)!�) �K _____ �A$O Aै䠂। 

A. ++ू/ िO�? +1Iि+ B. -01@,1 िO�? +1Iि+ 

C. -0�I िO�? +1Iि+ D. �@,91� िO�? +1Iि+ 

 

Q63. Examination of documentary evidence to ascertain the accuracy and authenticity of 
transactions recorded in the books of accounts is called _______________. 

A. Vouching B. Verification 

C. Internal check D. Investigation 

Q63. िO�? ?9A/ो䬂 .े䜂 &�? िO(&O( �I >Ip$? �0 ्䵚?.?�#�$? �? +$? ि�?(O �O  ;ि� &}$?=OिI @?ू$ �I �??� �K 
_______________ �A? �?$? AP। 

A. �m000 (=?���@�) B. @m0?+0 (=O91�,�O >0) 

C. �@,91� �??� D. 
o=O?+ 

 

Q64. An audit report in which the auditor does not insert any qualification, modification or 
reservation is called ____________. 

A. Qualified report B. Negative report 

C. Clean report D. Positive report 

Q64. �� �@I िO�? +0I्䵌# (�)!�) 90+K�? }�@.े䜂 िO�? +0I्䵌� (�)!�0) द♍=?0? +90=$?(, @�>K'( /? �0्䵌# @}o.;ि$ (AI� 
}�/? �?$? AP, �@O ____________ �A$O Aै䠂। 

A. @?+Oि 91+Kट/ B. 0�?1?m/� 91+Kट/ 

C. >Iद♍ 91+Kट/ D. @�?1?m/� 91+Kट/ 
 

Q65. Shares held by each Director of the company as per the Articles are known as 
___________. 

A. Preferential shares B. Qualification shares 

C. Convertible shares D. Redeemable shares 
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Q65. िO� �O  
(I@?0 �� +(I �O  ्䵚m/O� )(&O>� द♍=?0? 0�O �� >O/0 ___________ �AO �?$O Aै䠂। 

A. 
�//?0 >O01 B. ]=?लि�,�O >0 >O01 

C. +91=,/0I0 >O01 D. �-,.O0 >O01 
 

Q66. Which of the following standards on Auditing deals with audit planning? 

A. SA 610 B. SA 300 

C. SA 620 D. SA 230 

Q66. )(o(;ि��$ .े䜂 @O िO�? +0I्䵌# (�)!9���) �? �L( @? .?(� िO�? +0I्䵌# /K�(? @O @�?�/'$ Aै䠂? 

A. ए@.ए. 610 B. ए@.ए. 300 

C. ए@.ए. 620 D. ए@.ए. 230 

 

Q67. Capital expenditure is taken as a revenue expenditure, it is an error of: 

A. Omission B. Duplication 

C. Principle D. Commission 

Q67. +ू��I�$ }// �K 0?�}= }// �O  z+ .े䜂 िO ;ि/? �/? AP, /A }�@ ्䵚�?0 �I ्䵔I9� AP? 

A. ��ू B. .KA1?= 

C. ल@द♍?@, D. .िू 

 

Q68. Audit evidence states the : 

A. Involvement of the accountant B. Credibility of the company 

C. Trust worthiness of the management D. Reliability of audit evidence influenced by its 

source and nature 

Q68. िO�? +0I्䵌# (�)!�) ्䵚.?# )(o(;ि��$ .े䜂 @O ]/? ्䵚&;>?$ �0$? AP? 

A. िO�?�?1 �I .?�I.?1I B. �@ +0I �I @?� 

C. �-@/0 �I ==�=@0I0,? D. }K, �1 �=.?= @O �.?==, िO�? +1Iि? �? �/?+ 

 

Q69. One of the most important tools in cost planning is: 

A. Direct cost B. Budget 

C. Cost sheet D. Marginal costing 
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Q69. )(o(;ि��$ .े䜂 @O �L( @I �Iि ि?�$ �I /K�(? ?(?(O �O  @?@O .Am=+ू#? @?'(ो䬂 .े䜂 @O �� AP? 

A. �m0ि ि?�, B. -�ट 

C. ि?�, >Iट D. @I/?@, ि?�, 

 

Q70. Costs which are ascertained after they have been incurred are known as: 

A. Imputed cost B. Sunk cost 

C. Historical cost D. Opportunity cost 

Q70. �@O ��ो䬂 �K }�@ (?. @O �?(? �?$? AP, �K �(�O  ��? AK �?(O �O  ??& )('??90$ }�� �?$O Aै䠂? 

A. �= ि?�, B. ==,ि ि?�, 

C. +1@+1?�, ि?�, D. 
=@1 ि?�, 

 

Q71. Accounting standard 2 recommends the valuation of inventory on: 

A. Absorption costing B. Marginal costing 

C. Activity based costing D. Job costing 

Q71. िO�? .?(� 2 ��=े䜂्䵏I �? .ूल㉍/?��( )(o(;ि��$ .े䜂 @O }�@ +0 �0(O �I ;@,?90> �0$? AP? 

A. 
=>K?+ ि?�, B. @I/?@, ि?�, 

C. �-,==�/ +1 �/?91, ि?�, D. �?0/ ि?�, 

 

Q72. If lead time is 5 weeks, average weekly consumption is 28 units, the re-ordering level 
will be ______. 

A. 120 units B. 130 units 

C. 140 units D. 150 units 

Q72. /9& @./ @I.? (िI! @./) 5 @o$?A AP, �@$ @?o$?9A� �+$ 28 ��?� AP, $K +I(: �&O> &O(O �? }$0 ______ 

AK�?। 

A. 120 ��?�0?? B. 130 ��?�0?? 

C. 140 ��?�0?? D. 150 ��?�0?? 
 

Q73. Continuous stock taking is a part of: 

A. Annual stock taking B. Perpetual inventory 

C. Periodic inventory D. ABC analysis 
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Q73. )(0�$0 }�I� �I �??� �0(?, )(o(;ि��$ .े䜂 @O }�@ �? 9A}@? AP? 

A. =?=?/� /?ि �I �??� B. -01@,1 /?ि @�ूI 

C. �=�/� @�ूI D. ए.-I.@I. ==�िO?+ 

 

Q74. Labour turnover is measured by: 

A. EOQ B. Last in first out Method 

C. Flux method D. First in first out method 

Q74. ्䵦. �(?�=0 )(o(;ि��$ .े䜂 @O }�@ द♍=?0? .?+I �?$I AP? 

A. �.�.]0ू. B. ि?�ट �0 ,�ट/ ��ट ==�/ 

C. oि]@ ==�/ D. ,�ट/ �0 ,�ट/ ��ट ==�/ 

 

Q75. For a particular work the total remuneration is Rs. 3600. A and B can alone complete 
the work in 12 and 24 days respectively. What will be the remuneration of A if they can 
complete the work together from the starting of work? 

A. 2400 B. 1200 

C. 1800 D. 2000 

Q75. }�@I �� �?@ �?. �O  ;ि� 9&/? �?(O =?ि? �I ि +?90्䵦;.� 3600 z+� AP। A �0 B 
�O िO �@ �?. �K ि.>: 12 

�0 24 9&(ो䬂 .े䜂 +ू0? �0 @�$O Aै䠂। /9& =O >Iy�$ @O �� @?% �?. �K +ू0? �0$O Aै䠂 $K ?$?�� }� A �? +?90्䵦;.� ]/? AK�?? 

A. 2400 B. 1200 

C. 1800 D. 2000 

 

Q76. Maximum possible productive capacity of a plant when no operating time is lost is 
called _______. 

A. Practical capacity B. Normal capacity 

C. Theoretical capacity D. Capacity based on sales expectancy 

Q76. �K� @��?ि( @./ (�� ( AK(O +0 �� @�/�्䵔 �I 
/'�$. @�-= �m+?&� ्䵌.$? �K _______ �A? �?$? AP। 

A. }0?=A?91� ि/,? B. @?/?o0 ि/,? 

C. @Pद♍?@-,� ि/,? D. --्䵅I 
+Oि? �O  �/?1 +1 ि/,? 
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Q77. Director's remuneration form part of: 

A. Production overhead B. Administration overhead 

C. Selling overhead D. Distribution overhead 

Q77. )(&O>� �? +?90्䵦;.� )(o(;ि��$ .े䜂 @O }�@�? 9A}@? AP: 

A. �m+?.0 �=1AOड B. �>?@0 �=1AOड 

C. --्䵅I �=1AOड D. ==,1+ �=1AOड 
 

Q78. ABC costing is based on ______. 

A. Accounts B. Activity 

C. Arrangements D. Alternatives 

Q78. �.?I.@I. ि?�$ ______ +0 �'?90$ AP। 

A. िO�? B. �-,==�/ 

C. }0=�-? D. =P��ल㉍+� 

 

Q79. Prime cost plus variable overhead is known as: 

A. Production cost B. Marginal cost 

C. Total cost D. Cost of sales 

Q79. �? .ूि ि?�$ .े䜂 �+0I ि?�$ �.? �0 &I �?$I AP $K �@O ]/? �A$O Aै䠂? 

A. �m+?.0 ि?�, B. @I/?@, ि?�, 

C. �I ि ि?�, D. --्䵅I �I ि?�, 

 

Q80. In which of the following methods, issues of material are priced at pre-determined 
rate: 

A. Inflated price method B. Standard price method 

C. Replacement price method D. Specific price method 

Q80. )(o(;ि��$ .े䜂 @O }�@ +=/' .े䜂, �?0I @?.्䵇I �� +ू=?-)('??90$ &0 +0 .ूल㉍/ �I �?$I AP? 

A. -]I AI� .1 ==�/ B. /?0� /लू㉍0 ==�/ 

C. �-,�-?+0 /लू㉍0 ==�/ D. -0/?/91, /लू㉍0 ==�/ 
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Q81. Bin card is maintained by the: 

A. Accounts department B. Costing department 

C. Stores D. Purchase department 

Q81. -?( �?!? �K }�@ द♍=?0? ?(?� 0�? �?$? AP? 

A. िO�? ==.?� B. ि?�, ==.?� 

C. �टK1 D. ्䵅0 ==.?� 

 

Q82. ABC ltd manufactures a single product which it sells for Rs. 20 per unit. Fixed cost is 
Rs. 60000 per annum. The contribution to sales ratio is 40%. ABC ltd breakeven point in 

units is: 

A. 7500 B. 8000 

C. 7000 D. 7400 

Q82. ABC ;ि;.�O! �� ��ि �m+?& ?(?$I AP }�@O =A 20 z+� ्䵚)$ ��?� +0 ?O�$I AP। }}%0 ि?�$ 60000 z+� ्䵚)$ =?? 
AP। -?िI .े䜂 /K�&?( �? 
(I+?$ 40% AP। $K ?$?�� }� ABC �I ��?�/ो䬂 .े䜂 ि?--
ि?- }}%)$ (्䵜O� �=( o=?���) 

)(o(;ि��$ .े䜂 @O ]/? AK�I? 

A. 7500 B. 8000 

C. 7000 D. 7400 

 

Q83. An example of fixed cost is: 

A. Direct material cost B. Works managers salary 

C. Depreciation of machinery D. Chargeable expenses 

Q83. )(o(;ि��$ .े䜂 @O }}%0 ि?�$ �? �&?A0# ]/? AP: 

A. �m0ि /?ि �I ि?�, B. �?0/ �-@/�ो䬂 �? =O,0 

C. />I01I �? }?@ D. �.?0/ }00 

 

Q84. The maximum period for which speculation loss can be carried forward is: 

A. 4 years B. 6 years 

C. 8 years D. Indefinitely 

Q84. 
(I.?)($ (}+O]/ूिO>() A?)( �K ��O िO �?� �?(O �I 
/'�$. 
=/' ]/? AP: 

A. 4 =?/ B. 6 =?/ 

C. 8 =?/ D. 
-0���, �?ि ,� 
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Q85. Income under the Income tax Act is computed under: 

A. 5 heads B. 4 heads 

C. 6 heads D. 8 heads 

Q85. �/�0 
/')(/. �O  
�$�?$ �/ �I �#(? }�$(O >I?ो䬂 �O  
�$�?$ �I �?$I AP: 

A. 5 >I?/ B. 4 >I?/ 

C. 6 >I?/ D. 8 >I?/ 
 

Q86. For non-payment or short payment of advance tax: 

A. Interest is payable under section 234A B. Interest is payable under section 234D 

C. Interest is payable under section 234B D. Interest is payable under section 234C 

Q86. �0 �O  �P0--I�$?( /? �. -I�$?( �O  ;ि�: 

A. m0?� /?1? 234A �O  ,A, .O0 AP B. m0?� /?1? 234D �O  ,A, .O0 AP 

C. m0?� /?1? 234B �O  ,A, .O0 AP D. m0?� /?1? 234C �O  ,A, .O0 AP 
 

Q87. Mr. X a government employee gets Rs. 20000 as entertainment allowance for the year 
out of which he spends Rs. 2000 for official purpose, Rs. 5000 for personal purpose. One 
fifth of his basic salary amounts to Rs. 8000. The taxable entertainment allowance is: 

A. 20000 B. 13000 

C. 18000 D. 15000 

Q87. ्䵦I.?( X �� @0�?0I �.?�?0I Aै䠂 }�mAे䜂 �� =?? .े䜂 20000 .(K0��( -m$? ;.ि$? AP }�@.े䜂 @O �mAो䬂(O @0�?0I �oO�/ �O  
;ि� 2000 y+/O $%? )(�I �oO�/ �O  ;ि� 5000 y+� ��? }��। �(�O  .ूि =O$( �? +??�=? 9A}@? 8000 z+� AP। $K ?$?�� 

}� �(�? �0 /K_/ .(K0��( -m$? ]/? AK�?? 

A. 20000 B. 13000 

C. 18000 D. 15000 

 

Q88. An individual who satisfied one of the basic conditions and has been a resident in 
India in 2 out of 10 preceding previous years, is said to be: 

A. Resident B. Resident and ordinarily resident 

C. Non resident D. Resident and not ordinarily resident 
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Q88. �� }/}]$ }�@(O ?I)(/?&I >$ो䬂 .े䜂 @O �� >$? �K +ू0? }�/? AP �0 �K ++�िO 10 .े䜂 @O 2 =?ो䬂 .े䜂 -?0$ .े䜂 0A? AP, �@O 
)(o(;ि��$ .े䜂 @O ]/? �A? �?��?: 

A. -0=?@I B. -0=?@I �1 @?/?o0,: -0=?@I 

C. �P1 -0=?@I D. -0=?@I �1 �P1 @?/?o0,: -0=?@I 
 

Q89. National income is measured by: 

A. Ministry of Finance B. CSO (Central Statistics Office) 

C. RBI (Reserve Bank of India) D. SBI (State Bank of India) 

Q89. 0?�्䵏I/ �/ }�@�O  द♍=?0? .?+I �?$I AP: 

A. ==m, /@र?ि0 B. @I.ए@.�. (�े䜂 रI0 @?@�/0�I �?0?/ि0) 

C. �1.-I.��. (.?1,I0 91ज᰼=/ -ै䠂�) D. ए@.-I.��. (.?1,I0 �टOट -ै䠂�) 

 

Q90. In India most of the unemployment is: 

A. Disguised B. Open 

C. Cyclical D. Urban 

Q90. -?0$ .े䜂 
/'�?�> ?O0Kि�?0I )(o(;ि��$ .े䜂 @O ]/? AP: 

A. �चᩍ�o0 B. �IिI 

C. �्䵅I0 D. >A1I 
 

Q91. The main cause for unemployment in India is: 

A. Raising prices B. Increase in public expenditure 

C. Defective mandatory policy D. Improper utilization of resources 

Q91. -?0$ .े䜂 ?O0Kि�?0I �? .I_/ �?0# AP: 

A. �I/,ो䬂 /े䜂 ==ृद♍ B. @?=/�-0� }00 /े䜂 ==ृद♍ 

C. .K?++ू/ 
-0=?0/ 0I-, D. @@@?/0ो䬂 �? 
0I��, �+0K� 

 

Q92. _______ refers to public revenue, public expenditure and public debt. 

A. Monetary B. Fiscal 

C. Industrial D. Foreign 
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Q92. _______ >m& @?=?�)(� 0?�}=, @?=?�)(� }// �0 @?=?�)(� �# �K @�&;-?$ �0$? AP। 

A. /L9र� B. 1?��K?I0 

C. �द♍0K��� D. ==.O>I 
 

Q93. Contraction of demand is the result of: 

A. Decrease in number of consumers B. Increase in price 

C. Increase in price of related goods D. Decrease in the income of consumers 

Q93. )(o(;ि��$ .े䜂 @O }�@�O  +90#?.}=z+ .??� .े䜂 �.I AK$I AP: 

A. �+.K],?�@ �I @@/0? /े䜂 �/I B. �I/, /े䜂 ==ृद♍ 

C. @@-@�/, =�,I�@ �I �I/,ो䬂 /े䜂 ==ृद♍ D. �+.K],?�@ �I �0 /े䜂 �/I 
 

Q94. The price of apples falls by 5% and quantity demanded rises by 6%, this means 
______ demand. 

A. Elastic B. Perfectly elastic 

C. Inelastic D. Zero elastic 

Q94. @O? �I �I.$ .े䜂 5% �I /�0?=� AK(O +0 �@�I .??� .े䜂 6% �I =र+p AI�, �@�? 
%? ______ .??� AK$? AP। 

A. िK�.?1 B. ++ू/ िK�.?1 

C. िK� 19A, D. >oू0 िK�.?1 
 

Q95. Deflation has a side effect of ______. 

A. Increase in unemployment B. Increase in demand 

C. Economic depression D. Increase in individual expenditure 

Q95. 
+},I)$ ()!oिO>() �? &I�्䵚-?= ______ AK$I AP। 

A. -O1K��?1I /े䜂 ==ृद♍ B. /??� /े䜂 ==ृद♍ 

C. ��-/� /@.I D. }0�],�, ��/ /े䜂 ==ृद♍ 

 

Q96. Which of the following is the best example of agreement between oligopolists? 

A. OPEC B. WTO 

C. SAARC D. GATT 
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Q96. )(o( .े䜂 @O �L( 
ल㉍+?/'�?0 (�;ि�K+I;ि}्@) �O  ?I� @.�L$O �? @?@O 
चᩍ�? �&?A0# AP? 

A. �.+I.�.@I. B. डmल㉍0ू.टI.�. 

C. ए@.ए.ए.�1.@I. D. �I.ए.टI.टI. 
 

Q97. Calculate AFC at 2 units from following table: 

 

 

A. 105 B. 235 

C. 180 D. 290 

Q97. )(o( $?;ि�? @O 2 ��?�/ो䬂 .े䜂 �.�,.@I. �I �#(? �0े䜂: 
 

 

A. 105 B. 235 

C. 180 D. 290 

 

Q98. "Debit the receiver and credit the giver" relates which among the following accounts? 

A. Personal Accounts B. Impersonal Accounts 

C. Real Accounts D. Nominal Accounts 

Q98. "्䵚?o$�$?? �K (?.O �0े䜂 �0 &O(O =?िO �K �.?" /A �(.े䜂 @O }�@ �?$O @O @�?�/'$ AP? 

A. }0�],�, �?,O B. -0=I0�],� �?,O 

C. =?�,==� �?,O D. 0?//?र �?,O 
 

Q99. What is the primary objective of Tax Audit, as per 44 AB of Income Tax Act 1961? 

A. To assist the management in computing tax 

liability accurately 

B. To assist the tax authorities in assessing the 

correct income of the assessee 

C. To assist the management in regard to 

effective tax planning 

D. To assist the tax authorities to collect more tax 

revenue 
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Q99. �/�0 
/')(/. 1961 �O  44 AB �O  
(I@?0 �0 िO�? +0I्䵌? �? ्䵚?%;.� �oO�/ ]/? AP? 

A. �1 .O0,? �? @टI� z+ @O +91�+0 �10O /े䜂 �-@/0 �I 
/.. �10? 

B. -0/?/91,I �I @AI �0 �? /लू㉍0?@�0 �10O /े䜂 �1 
�?�/�?910ो䬂 �I @A?0,? �10? 

C. �.?=I �1 0K�0? �O  @@-@/ /े䜂 �-@/0 �I @A?0,? �10? D. 
�/� �1 1?��= ए�-र, �10O �O  लिए �1 �?�/�?910ो䬂 �I 
@A?0,? �10? 

 

Q100. IT of a person is determined on the basis of his: 

A. residential status in India B. citizenship in India 

C. residential status outside India D. citizenship outside India 

Q100. �� }/}]$ �I ��.�I. �@�O  �@ �'?0 +0 )('??90$ �I �?$I AP - 

A. .?1, �I �=?@I0 ��--, B. .?1, �I 0?�91�,? 

C. .?1, @O -?A1 �=?@I0 ��--, D. .?1, @O -?A1 �I 0?�91�,? 
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Q1. _______ led the Indian freedom struggle through the 'Indian National Army'. 

A. Lala Lajpat Rai B. Subhash Chandra Bose 

C. Bipin Chandra Pal D. Dadabhai Naoroji 

Q1. _______ 0O '-?0,I/ 0?�रI/ 9O0?' �O  .?o/. 9O -?0,I/ }=,�्䵔,? 9�्䵇?. �? 0O,mृ= ��/?। 

A. ल?ल? ल?�+, 1?0 B. @I.??��� -K@ 

C. --++0 ���+?ल D. .?.?.?� 0L1K�I 
 

Q2. International Yoga Day is celebrated on ______every year. 

A. 5th September B. 14th February 

C. 21st June D. 5th March 

Q2. 
�,0??�रI/ /K� /?=9 :0 9?ल ___________ �K .0?/? �?,? :P। 

A. 5 9@,�-1 B. 14 ,1=1I 

C. 21 �ू0 D. 5 /?�� 
 

Q3. Gir Forest National Park Wildlife Sanctuary is in _________. 

A. Bihar B. Maharashtra 

C. Uttar Pradesh D. Gujarat 

Q3. ��0 =0 0?�रI/ �द♍/?0 �0 =m/�I= 
m/?0o/ _________ .े䜂 :P। 

A. --A?1 B. /A?1?�र 

C. �त⑍,1 ्䵚.O> D.  I�1?, 

 

Q4. “Parent's Worship Day" is observed on 14th February in ______. 

A. Chattisgarh B. Uttarakhand 

C. Rajasthan D. Madhya Pradesh 

Q4. ' .?,-ृ+?, ृ/?=9' ______ .े䜂 14 +0=0I �K .0?/? �?,? :P। 

A. �त⑍,I@ ? B. �त⑍,1?��! 

C. 1?�}-?0 D. /o0 ्䵚.O> 
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Q5. It has been found that Rakhigarhi village in the _______ district was one of the oldest 
ancient Indus Valley Civilization sites. 

A. Rewari B. Mewat 

C. Hisar D. Fatehabad 

Q5. /: ??/? �/? :P �� _______ ��लO �? 0?�I�*I �?�=, 99�/I  ?�I 9m/,? �O  9,9O ्䵚?�I0 }-लो䬂 .े䜂 9O �� -?। 

A. 1O=?)I B. /O=?, 

C. 9A@?1 D. ,,OA?-?. 
 

Q6. During the Mahabharata days, Haryana was known as __________. 

A. Dhandharti B. Bahudhana 

C. Iswar Niwas D. Veerdharti 

Q6. .:?-?0, �O  /?0ो䬂 .े䜂, :90/?+? �K __________ 0?. 9O �?0? �?,? -?। 

A. /0/1,I B. -AI/0? 

C. ��=1 )0=?@ D. =I1/1,I 
 

Q7. History mentions that ________, the Chinese scholar visited Thanesar during the reign 
of King Harsha. 

A. Fa Hien B. Megasthenes 

C. Sung Yun D. Hiuen Tsang 

Q7. �-,:?9 .े䜂 �ल㉍लO� 9.ल,? :P �� ________ �I0I +=द♍=?0, 0?�? :}? �O  >?90�?ल .े䜂 -?0O90 �� -O। 

A. ,? 9A0?0 B. /O }-0I� 

C. @I�  0ू0 D. AO0 त⑍@?�  

 

Q8. In the Third Battle of Panipat which was fought in the year 1761, Ahmed Shah Abdali, 

the ____ king, defeated the Marathas. 

A. Afghan B. Persian 

C. Mongolian D. Turkish 

Q8. 1761 .े䜂 ल)I �� ??0I?, �I ,I90I ल)?� .े䜂 ____ ,??>?: 
:.? >?: 
m??लI 0O .0? ो䬂 �K :0?/?। 

A. 
फ⬼ग?0 B. फ⬼?1@I 

C. /� K9ल00 D. ,I}I 
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Q9. Indian actor Parineeti Chopra was born in _______. 

A. Ambala B. Faridabad 

C. Rohtak D. Rewari 

Q9. -?0,I/ 
9-0O्䵔I ?90+I-, �K?)? �? �m. _______ .े䜂 :I� -?। 

A. 
म⹍-?ल? B. ,1I.?-?. 

C. 1KA,} D. 1O=?)I 
 

Q10. Indian wrestlers Geeta Phogat and Babita Phogat belong to which place in Haryana? 

A. Rewari B. Hisar 

C. Rohtak D. Balali 

Q10. -?0,I/ ?:ल=?0 �I,? +K�� �0 ,,I,? +K�� :90/?+? .े䜂 ��9 ��: �I 0:0O =?लI :P? 

A. 1O=?)I B. 9A@?1 

C. 1KA,} D. -ल?लI 
 

Q11. Shri.Om Prakash Dhankar is the current _____ Minister of Haryana. 

A. Agriculture B. Education 

C. Tourism D. Transport 

Q11. ्䵦I �. ्䵚�?> /0�0 :90/?+? �O  =,?.?0 _____ .�्䵔I :ै䠂। 

A. }ृ+? B. 9>�? 

C. +0��0 D. +91=A0 

 

Q12. What is the new name of Mewat district? 

A. Balrampradesh B. Balramgarh 

C. Nuhar D. Nuh 

Q12. .O=?, ��लO �? 0/? 0?. ]/? :P? 

A. -ल1?/्䵚.O> B. -ल1?/ ? 

C. 0IA?1 D. 0IA 
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Q13. Who was the first Indian woman to win a gold medal at the Commonwealth games 
2010? 

A. Kirti Singh B. Sakshi Malik 

C. Geeta Phogat D. Babita Phogat 

Q13. �I.0=Oल㉍- �Oo9 2010 .े䜂 }=+? ??� �I,0O =?लI ?:लI -?0,I/ ./:ल? �L0 -I? 

A. }I),� 9@�A B. @?�I /9ल} 

C.  I,? ,K � D. --I,? ,K � 
 

Q14. Post Office Passport Seva Kendra (POPSK) is currently available in two districts of 

Haryana. Which is the third district identified to have a POPSK? 

A. Kurukshetra B. Faridabad 

C. Sirsa D. Bhiwani 

Q14. !?� 0 ??9?K�? 9O=? �े䜂 ्䵖 (?I.�.?I.�9.�O .) =,?.?0 .े䜂 :90/?+? �O  ?K ��लो䬂 .े䜂 �?लm/ :P। �9 ,I90O ��लO �? 0?. ]/? :P 
�:?? ?I.�.?I.�9.�O . �I }-??0? :K0O =?लI :P? 

A. }I y�O्䵔 B. ,1I.?-?. 

C. 9@1@? D. 9.=?0I 
 

Q15. Surdas flourished during the reign of which Mughal emperor? 

A. Akbar B. Humayu 

C. Aurangzeb D. Jahangir 

Q15. ��9 .I�ल 9्䵞?� �O  >?90�?ल .े䜂 9ू0??9 �? ,:I, 0?. :I� -?? 

A. 
}-1 B. AI/?0ूK 

C. �1� जO- D. �A?� I1 
 

Q16. Which of the following weekly newsletter is published from Rohtak? 

A. Mera Rohtak B. Haryana Tilak 

C. Mera Haryana D. Apno Desh 

Q16. 0K:,� 9O -0o09ल��, .े䜂 9O �L0 9? 9?o,?/:� m/ूज᰼लO�0 ्䵚�?9>, :K,? :P? 

A. /O1? 1KA,} B. A910?+? ),ल} 

C. /O1? A910?+? D. 
+0K .O> 
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Q17. 8Amanat Ek Shahid Ki9 is written by _________. 

A. Shree Dhar B. Guru Charan 

C. Balram D. Krishna Bachal 

Q17. '
.?0, �� >:I? �I' �O  लO�� ______ :ै䠂। 

A. ्䵦I /1 B.  Iy �1+ 

C. -ल1?/ D. }ृ�+ -?�ल 

 

Q18. Banabhatta was a poet in the court of ___________. 

A. Babar B. Harshavardhana 

C. Akbar D. Gopal Singh 

Q18. ,?+-्䴾 ___________ �O  ?0,?0 .े䜂 �� �+= -O। 

A. -?-1 B. A?�=/�0 

C. 
}-1 D.  K+?ल 9@�A 
 

Q19. Which of the following is a hill station in Haryana? 

A. Karnal B. Sonipat 

C. Pinjore D. Morni 

Q19. �0.े䜂 9O �L0, :90/?+? �? �� /:ल }�O>0 :P? 

A. }10?ल B. @K0I+, 

C. ++��L1 D. /K10I 
 

Q20. Which district of Haryana receives minimum rainfall? 

A. Kurukshetra B. Sirsa 

C. Ambala D. Hisar 

Q20. :90/?+? �O  ��9 ��लO .े䜂 9,9O �. =}?? :K,I :P? 

A. }I y�O्䵔 B. 9@1@? 

C. 
म⹍-?ल? D. 9A@?1 
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Q21. Damdama lake is situated in ________ district. 

A. Gurgaon B. Hisar 

C. Rohtak D. Faridabad 

Q21. ?.?.? �Iल ________ ��लO .े䜂 �}-, :P। 

A.  I) ?�= B. 9A@?1 

C. 1KA,} D. ,1I.?-?. 
 

Q22. The Aravalli Range that runs through Haryana is the _____ range. 

A. Eastern B. Southern 

C. Central D. Northern 

Q22. 
0?=लI ?=?, ्䵦O+I �K :90/?+? 9O :K�0 �I�0,? :P =: _____ ?=?, ्䵦O+I :P। 

A. +=ूी B. .्䵌�+I 

C. /o0 D. �त⑍,1I 
 

Q23. In most parts of Haryana, you can find the _______ type of soil cover. 

A. red B. sandy loam 

C. desert D. clay 

Q23. :90/?+? �O  
�/�?�> /:}9ो䬂 .े䜂, �?�K _______ 9.्䴾I ?O�0O �K 9.ल 9�,I :P। 

A. ल?ल B. -लI� .K/� 

C. 1O� },?0I D. ��}0I 
 

Q24. The Governor is appointed for a term of ______ years. 

A. 4 B. 5 

C. 6 D. No limit 

Q24. 0?जᱍ/??ल �K ______ =}ो䬂 �I 
=�/ �O  9ल� -0/I], ��/? �?,? :P। 

A. 4 B. 5 

C. 6 D. }K� @I/? 0AI� 
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Q25. Who appoints the Advocate-General of a State? 

A. Chief Justice of India B. President of India 

C. Prime Minister of India D. Governor of the State 

Q25. �� 0?जᱍ/ �O  .:?�/=],? �I -0/I�], �L0 �0,? :P? 

A. .?1, }? /I_0 m0?0?/I> B. .?1, }? 1?�र+), 

C. .?1, }? ्䵚/?0 /�्䵔I D. 1?जᱍ0 }? 1?जᱍ0+?ल 

 

Q26. The Haryana legislature is _________. 

A. Unicameral B. Bicameral 

C. Both Unicameral and Bicameral D. Neither Unicameral nor Bicameral 

Q26. :90/?+? �I +=/?-/�? _________ :P। 

A. ए} @.0I0 B. .K @.0I0 

C. ए} @.0I0 �1 .K @.0I0 .K0ो䬂 D. 0 ,K ए} @.0I0 �1 0 AI .K @.0I0 

 

Q27. Haryana celebrates "Tree Day" on _____ . 

A. 15th Aug B. 15th July 

C. 15th May D. 15th Mar 

Q27. :90/?+? _____ �K "=�ृ /?=9" .0?,? :P। 

A. 15 
 }, B. 15 �Iल?� 

C. 15 /� D. 15 /?�� 
 

Q28. Which of the following is the most prominently found tree in Haryana? 

A. Shisham B. Peepal 

C. Eucalyptus D. Aloe Vera 

Q28. -0o09ल��, .े䜂 9O �L0 9? ?O), :90/?+? .े䜂 9,9O ्䵚.I� z? 9O ??/? �?0O =?ल? ?O) :P? 

A. >I>/ B. +I+ल 

C. 0I}9लo�@ D. एलK =O1? 
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Q29. International Horticulture Market was set up in which district of Haryana? 

A. Panchkula B. Sonipat 

C. Hisar D. Gurgaon 

Q29. 
�,0??�रI/ ,?�=?0I ,?�?0, ��9 ��लO .े䜂 ल�?/? �/? -?? 

A. +��}I ल? B. @K0I+, 

C. 9A@?1 D.  I) ?�= 

 

Q30. Pick the odd one out: 
 

Scissor, Knife, Sewing machine, Axe 

A. Scissor B. Sewing machine 

C. Axe D. Knife 

Q30. 
9��, �? �/0 �0े䜂: 
 

�ै䠂 �I, �?�ू, 99ल?� .>I0, �I ल㉍:?)I 

A. }ै䠂 �I B. 9@ल?� />I0 

C. }I ल㉍A?)I D. �?}ू 

 

Q31. Find the analogy. 
 
mckC : Ckcm :: jhtY 

A. JHTy B. Ythj 

C. JhtY D. YHTj 

Q31. 9.?0,? �? ?,? ल�?��। 
 

mckC : Ckcm :: jhtY 

A. JHTy B. Ythj 

C. JhtY D. YHTj 

 

Q32. What should come at the place of question mark (?) in the following number series? 

 
14, 38, 52, 66, ? , 94, 108 

A. 72 B. 70 

C. 80 D. 88 
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Q32. -0o09ल��, 9�_/? ्䵦ृ��ल? .े䜂 ्䵚�0 ��}0 (?) �O  }-?0 ?0 ]/? :K0? �?/:�?  

 
14, 38, 52, 66, ? , 94, 108 

A. 72 B. 70 

C. 80 D. 88 

 

Q33. In a certain code, ROSE is written as SPTF. What will be GARDEN written as? 

A. HBSEFO B. GARNED 

C. BSHOFE D. GRAEND 

Q33. �� -0���, �K! .े䜂, ROSE �K SPTF 9ल�? �?,? :P। GARDEN �K ]/? 9ल�? �?��?? 

A. HBSEFO B. GARNED 

C. BSHOFE D. GRAEND 

 

Q34. 20500/500/10 = _______ 

A. 1.5 B. 2.2 

C. 4.1 D. 3.3 

Q34. 20500/500/10 = _______ 

A. 1.5 B. 2.2 

C. 4.1 D. 3.3 

 

Q35. A circle is divided into 15 equal parts in which 7 parts are shaded. If John throws a 
dart at the circle, what is the probability that the dart will hit on the shaded part? 

A. 7/15 B. 5/15 

C. 6/15 D. 1/15 

Q35. �� �्䵅 �K 15 ,0?,0 -?�ो䬂 .े䜂 +=-?��, ��/? �/? :P ��0.े䜂 9O 7 -?�ो䬂 �K �?/?���, ��/? �/? :P। //? �I0 �9 �्䵅 .े䜂 
�� !?�? +े䜂 �,? :P, ,K �9�I ]/? 9�-?=0? :P �� !?�? �?/?���, -?� ?0 ल�O�?? 

A. 7/15 B. 5/15 

C. 6/15 D. 1/15 
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Q36. A retailer purchased 15% of rice and 20% of wheat respectively from a wholesale 
unit. Another retailer purchased equal quantity of rice and wheat amounting to 25% from 
the same wholesale unit. Find the total percentage of rice that was purchased from the 
wholesale unit? 

A. 25.5% B. 24.5% 

C. 26.5% D. 27.5% 

Q36. �� �I?0? +=्䵅O ,? 0O �� -K� +=्䵅O ,? 9O ्䵅.>: 15% �?=ल �0 20% �O:ू� �0I??। �� 
m/ �I?0? +=्䵅O ,? 0O �9I -K� 

+=्䵅O ,? 9O ,0?,0-,0?,0 ?90.?+ .े䜂 25% �?=ल �0 �O:ू� �0I??। -K� +=्䵅O ,? 9O �I ल ��,0? ्䵚-,>, �?=ल �0I?? �/?? 

A. 25.5% B. 24.5% 

C. 26.5% D. 27.5% 

 

Q37. Prakash spent Rs.1340 on repairing his camcorder, which he had bought for Rs.25000 
one year back. He sold it for Rs.29800. What percentage of profit did he earn? 

A. 12.39% B. 11.45% 

C. 13.13% D. 14.46% 

Q37. ्䵚�?> 0O 
?0O �P .�I!?0 �I .0o., ?0 1340 y?/O ��? ���, ��9O �90O �� 9?ल ?:लO 25,000 y?/O .े䜂 �0I?? -?। 
�90O �9O 29800 y?/O .े䜂 ,O� /?/?। �9O ��,0? ्䵚-,>, ल?- :I�? 

A. 12.39% B. 11.45% 

C. 13.13% D. 14.46% 

 

Q38. An electric motor in a washing machine converts electrical energy into _________ 
energy. 

A. Chemical B. Mechanical 

C. Gravitational D. Radiant 

Q38. �� =I9>�� .>I0 .े䜂 �� �लO�]र� .K�0, +=द♍/I, ��?? �K _________ ��?? .े䜂 ,?ल,I :P। 

A. 1?@?0)0} B. 0?�-्䵔} 

C.  Iyत⑍=I0 D. +=�}1+ 

 

Q39. The common name of Ethanoic acid is _______. 

A. Lactic acid B. Acetic acid 

C. Boric acid D. Sulphuric acid 
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Q39. �-K-0� �99! �? �. 0?. _______ :P। 

A. लP]��} ए9@! B. ए9@9�} ए9@! 

C. -K91} ए9@! D. @ल㉍M09ू1} ए9@! 
 

Q40. Anaerobic respiration takes place in the absence of _______. 

A. Mitochondria B. Oxygen 

C. Hydrogen D. Stomata 

Q40. �0?0K-,� �=90, _______ �I 
0I?�}--, .े䜂 :K,? :P। 

A. /?��K}I]mि0? B. ऑ�@I�0 

C. A?�िK�0 D. 1�� 

 

Q41. __________ is the synonym of "memorable". 

A. Monument B. Memorial 

C. Unforgettable D. Uninteresting 

 

Q42. __________ is the antonym of "populous". 

A. Less populated B. Very popular 

C. Overcrowded D. Filled with 

 

Q43. Identify the meaning of the idiom:  
 
"Blessing in disguise." 

A. Something that is not favorable B. Something borrowed from someone 

C. Something that is praiseworthy D. Something that seems bad at first, but is 

actually favorable 

 

Q44. The sentence given below may contain one or more mistakes. Identify the correct 
sentence. 
 
"Sheela is going to library to see the friend." 

A. Sheela is going to the library to see friend. B. Sheela is going to library to see the friend. 

C. Sheela is going to the library to see a friend. D. Sheela is going to the library to see the friend. 
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Q45. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
Reema ran away when she _______ (see) me. 

A. see B. sees 

C. had seen D. saw 

 

Q46. 0I�O 9ल�O >m? �? ?/??/=?�I >m? ,,?�/े䜂| 

 

+ूल 

A. @9लल B.  ?� 

C. 9A0 D. /��1I 
 

Q47. 0I�O 9ल�O >m? �? +=?0I, (+=लK.) >m? ,,?�/े䜂 | 

 

+=्䵇: 

A. >्䵔I,? B. +=1K/ 

C. @��/ D. +1?/I0 

 

Q48. 0O�?��� , .I:?=0O �? �?/I?], 
-? ,,?/े䜂। 
 

/:�?I},?0I +L� �K ?O��0 ??��},?0I �,��=??I -I�I -,ल㉍लI ,0 �/O। 

A. }/�K1 AK0? B. .0.I, AK �?0? 

C. 1A/ }10? D. --ल㉍लI }? म⹍0?�K  म⹍0?�K  }10? 
 

Q49. 0I�O 9ल�O >m? �? ��=�0 ,0?/े䜂| 

 

-?लO 

A. .ल㉍ल? B. .?ल 

C. .?ल? D. .?ल㉍ल? 
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Q50. 0I�O 9ल�O >m? �? ,:I=�0 ,0?/े䜂। 
 

9��/ 

A. @�/I0?K B. @�/I0K 

C. @��/0?K D. @]m/0K 
 

Q51. Which financial statement represents the accounting equation: Assets = Liabilities + 
Owner's Equity 

A. Income Statement B. Statement of cash flows 

C. Balance sheet D. Profit & loss Account 

Q51. �L0 9? +=m,I/ +==0+ �9 लO�?��0 9.I�0+ �K ्䵚},I, �0,? :P: 9�?�m,/?? = ?O/,?�? + }=?.I �I ��]=�I 

A. �0 +==1+ B. 0}.I ्䵚=?A +==1+ 

C. -Pले䜂@ >I� D. ल?. �1 A?)0 �?,? 
 

Q52. Money spent Rs. 100,000 as travelling expenses of the directors on trips abroad for 
purchase of capital assets is _______. 

A. Capital Expenditure B. Revenue Expenditure 

C. Deferred Revenue Expenditure D. Miscellaneous Expenditure 

Q52. ?ू��I�, 9�?�m,/ो䬂 �I �0I? �O  9ल� +=?O>I ?L0O ?0 -0?े>�ो䬂 �I /?्䵔? �O  9ल� ��/? �/? 100,000 z?� �? ��? 
_______ :P। 

A. +ूK�I, , }00 B. 1?�}= ��� 

C. �}-� , 1?�}= }00 D. +=+=/ }00 

 

Q53. Original cost = Rs. 126,000. Salvage value =Rs 6000. What will be the depreciation for 
2nd year as calculated using Units of Production Method, if units produced in 2nd year was 

5,000 and total estimated production was 50,000? 

A. 10,800 B. 11,340 

C. 12,600 D. 12,000 
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Q53. .ूल ल?�, = 126,000 z?� :P। 0oI (9Pल㉍=O�) �? .ूल㉍/= 6000 z?� :P। �m???0 �I ��?� +=�/ �O  �?/K� 9O �+0? 
द♍=?0? ?9ू0O =}? �? .ूल㉍/्䵩?9 ��,0? :K�?, //? ?9ू0O =}? .े䜂 �m???0 �I �� ��?�/?? 5,000 -I �0 
0I.?-0, �m???0 50,000 

-?? 

A. 10,800 B. 11,340 

C. 12,600 D. 12,000 

 

Q54. A Bank Reconciliation Statement is prepared to know the causes for the difference 
between: 

A. The balance as per cash column of Cash Book 

and the Pass Book 

B. The balance as per bank column of Cash Book 

and the Pass Book 

C. The balance as per bank column of Cash Book 

and balances as per cash column of Cash Book 

D. The balances as per Cash Book when a certain 

amount is paid into the bank 

Q54. ,ै䠂� 9.?/?0 +==0+ �K -0o0 .े䜂 9O ��0 �O  ,I� 
�,0 �O  �?0+ो䬂 �? ?,? ल�?0O �O  9ल� ,P/?0 ��/? �?,? :P: 

A. 1K}) -AI �1 +?@ -I} }O  0}.I }Iल/ }O  
0I@?1 >O? B. 1K}) -AI �1 +?@ -I} }O  -ै䠂} }Iल/ }O  
0I@?1 >O? 

C. 1K}) -AI }O  -ै䠂} }Iल/ �1 1K}) -AI }O  0}.I }Iल/ }O  

0I@?1 >O? 

D. 1K}) -AI }O  
0I@?1 >O? �- ए} )0]��, 1?9> -ै䠂} /े䜂 
.I ,?0 }I  � AK 

 

Q55. Present liability of uncertain amount, which can be measured reliably by using a 

substantial degree of estimation, is termed as __________. 

A. Liability B. Provision 

C. Contingent liability D. Contingent asset 

Q55. 
-0���, 0?9> �? =,?.?0 ??-/m=, ��9O �� -0���, },0 �O  
0I.?0 �O  �?/K� द♍=?0? +=�=90I/,? 9O .??? �? 9�,? 
:P, =: ]/? �:ल?,? :P? 

A. .?)0त⑍= B. ्䵚?=/?0 

C. �}]}/} .O0,? D. �}]}/} @�+]त⑍, 

 

Q56. In which of the following methods is the cost of the asset written off in equal 
proportion, during its useful economic life? 

A. Written down value method B. Straight line method 

C. Units of production method D. Sum of the years' digits method 
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Q56. -0o09ल��, .े䜂 ��9 +=�/ .े䜂 9�?�m, �I ल?�, �9�O  �?/K�I ��-?� �I=0 .े䜂 �� ,0?,0 
0I??, .े䜂 �?� ?I �?,I :P? 

A. 
=लO��, /लू㉍0 +=�/ B. @I/I }�L,I +=�/ 

C. �}?�0ो䬂 }? �त⑍+?.0 +=�/ D. =?ो䬂 }? 0K - )!]�� +=�/ 

 

Q57. Cash book is a type of _______ but treated as a _______ of accounts. 

A. Subsidiary book, Principal book B. Principal book, Subsidiary book 

C. Subsidiary book, Subsidiary book D. Principal book, Principal book 

Q57. 0K�) ,:I _________________ �? �� ्䵚�?0 :P, लO��0 =: �?,ो䬂 �I _______________ z? .े䜂 �?/K� 

�I �?,I :P। 

A. @A?0} +I},}, /I_0 +I},} B. /I_0 +I},}, @A?0} +I},} 

C. @A?0} +I},}, @A?0} +I},} D. /I_0 +I},}, /I_0 +I},} 

 

Q58. Accounting Standards in India are issued by __________ . 

A. Central Government B. State Government 

C. Institute of Chartered Accountants of India D. Reserve bank of India 

Q58. -?0, .े䜂 लO�? .?0�_______________ द♍=?0? �?0I ��� �?,O :ै䠂। 

A. }O m्1 @1}?1 B. 1?जᱍ0 @1}?1 

C. ��}�IटὍ0�ू ऑ, �?�े! ए}?�� �े䜂टὍ@ ऑ, ��)!0? D. .?1,I0 91ज=� -ै䠂} 

 

Q59. X Ltd. had allotted 10,000 shares to the applicants of 14,000 shares on pro-rata basis. 
The amount payable on application is Rs.2. Mr. Vineet applied for 420 shares. The number 
of shares allotted and the amount carried forward for adjustment against allotment money 

due from Mr. Vineet will be __________ . 

A. 60 shares; Rs.120 B. 340 shares; Rs. 160 

C. 320 shares; Rs. 200 D. 300 shares; Rs 240 

Q59. X 9ल9.�O! 0O /-?0I??, �/?0 ?0 14,000 >O/0ो䬂 �O  �=O?�ो䬂 �K 10,000 >O/0 �=�/�, ���। �=O?0 ?0 ?O/ 0?9> 2 

y?� :P। +=0I, 0O 420 >O/0ो䬂 �O  9ल� �=O?0 ��/?। �=�/�, ��� �� >O/0ो䬂 �I 9�_/? �0 +=0I, 9O ?O/ �=��0 0?9> �O  9ल� 

9.?/K�0 :O,I �P 0I +I=?!? �I �?0O =?लI 0?9> ____________ :K�I। 

A. 60 >O01; 120 z+ए B. 340 >O01; 160 z+ए 

C. 320 >O01; 200 z+ए D. 300 >O01; 240 z+ए 
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Q60. In the books of D Ltd., the machinery account shows a debit balance of Rs.60,000 as 
on April 1, 2012. The machinery was sold on September 30, 2013 for Rs. 30,000. The 
company charges depreciation at 20% p.a. on diminishing balance method. Find 
Depreciation for 2012-2013 and Profit or loss on sale of machinery. 

A. Depreciation = 6000; Profit/Loss = 6800 profit B. Depreciation = 9000; Profit/Loss = 6800 loss 

C. Depreciation = 4800; Profit/Loss = 13200 

profit 

D. Depreciation = 12000; Profit/Loss = 13200 

loss 

Q60. D 9ल9.�O! �I ��,?,ो䬂 .े䜂, 1 
्䵚Pल 2012 �K 60,000 z?� .>I00I �?,? !O-,� >O} /?�? 0:? :P। /: .>I00I 30 

99,�,0 2013 �K 30,000 z?� .े䜂 ,O�I ��। �� ?0I 20% ्䵚-, =}?  �,I >O} ()!9.-09>�� !O+्䵚>O>0) .ूल㉍/्䵩?9 ्䵚+?लI ?0 
्䵩?9 �?�? �0,I :P। 2012-2013 �O  9ल� ्䵩?9 _?, �0े䜂 �0 .>I00I �I -,्䵅I ?0 ल?- /? :?-0 �? ?,? ल�?�?? 

A. /लू㉍0्䵩?@ = 6000; ल?./A?)0 = 6800 ल?. B. /लू㉍0्䵩?@ = 9000; ल?./A?)0 = 6800 A?)0 

C. /लू㉍0्䵩?@ = 4800; ल?./A?)0 = 13200 ल?. D. /लू㉍0्䵩?@ = 12000; ल?./A?)0 = 13200 A?)0 

 

Q61. To test whether sales have been recorded, the auditor should draw a sample from a 
file of _________. 

A. Purchase orders B. Sales orders 

C. Sales invoices D. Bill of loading 

Q61. /: �??� �00O �O  9ल� �� ]/? -,्䵅I ?�? �I �� :P, लO�? ?0I�� �K _________ +?�ल 9O 0.ू0? लO0? �?/:�। 

A. ्䵅0 �.O> B. --्䵅I �.O> 

C. --्䵅I �?ल?0 D. ल.?0 }? --ल 

 

Q62. For vouching of which item, the auditor is most likely to examine cost records? 

A. Commission earned B. Bad debts recorded 

C. Credit sales D. Sale of scrap 

Q62. ��9 .? �O  ्䵚m//0 (=?�����) �O  9ल�, लO�? ?0I�� द♍=?0? ल?�, 90�I!? �I �??� �00O �I 9,9O 
�/� 9�-?=0? :P? 

A. 
]��, }/I>0 B. .�� �}0?  0? !ू-, �+ 

C. �/?1 --्䵅I D. }्䵅P + }I --्䵅I 
 

Q63. Audit of transaction does not include ________ . 

A. Propriety audit B. Efficiency - cum performance audit 

C. Audit of receipts D. Audit of expenditure 
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Q63. लO0-?O0 �I लO�? ?0I�? .े䜂 __________ >?9.ल 0:I� :P। 

A. ���त⑍0 लO�? +1I�? B. �/,? ए=� )0�+?.0 लO�?+1I�? 

C. ्䵚?]o,0ो䬂 }I लO�? +1I�? D. }00 }I लO�? +1I�? 
 

Q64. Which of the following sections deal with qualifications of the auditor? 

A. Section 141 B. Section 224 

C. Section 226 D. Section 143 

Q64. -0o09ल��, .े䜂 9O �L0 9I /?0? लO�? ?0I�� �I /K_/,? 9O 9�,��/, :P? 

A. /?1? 141 B. /?1? 224 

C. /?1? 226 D. /?1? 143 

 

Q65. Which of the following expenses should not be treated as capital expenditure? 

A. Expenses paid on installation of a plant. B. Cost of dismantling a building in case a new 

building is to be constructed on the land. 

C. Legal expenses incurred to defend a suit 

related to title of patent. The suit has been lost. 

D. The fees paid to engineer who constructed the 

plant. 

Q65. -0o09ल��, .े䜂 9O �L0 9O }//ो䬂 �K ?ू��I�, }// �O  z? .े䜂 0:I� .?0? �?0? �?/:�? 

A. @�0�्䵔 }I }-?+0? +1 .I ,?0 �}0?  0? }00। B. ए} �/?1, }K � 1?0O }? ��� 09. �@ .9ू/ +1 ए} 0� 
�/?1, -0?� �?0I AK। 

C. +O�े䜂� }O  0?/ @O @�-��/, /I}./O }O  -�?= /े䜂 =A0 �}0?  0? 
}?0ू0I ���। 

D. @�0�्䵔 }? )0/?�+ }10O =?लO ���I)001 }I ,I@ }? .I ,?0। 

 

Q66. Auditing standards differ from audit procedures in that procedures relate to 

___________ . 

A. Audit assumptions B. Acts to be performed 

C. Quality criterion D. Methods of work 

Q66. लO�? ?0I�? .?0� लO�? ?0I�? ्䵚�्䵅/?�� 9O 9-m0 :ै䠂 ]/ो䬂�� /O _______________ 9O 9�,��/, :K,O :ै䠂। 

A. लO�? +1I�? /?m0,?एK B. )0�+?.0 �}ए �?0O =?लO }?0� 

C.  I+=त⑍,? }I }@L�I D. }?/ }10O }O  ,1I}O  
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Q67. Equity shares of ABC Ltd. held by XYZ Ltd. are in the custody of Stock Holding 
Corporation of India Limited (SHCIL). The auditor may verify this investment by 
_____________. 

A. Reviewing last years' working papers. B. Obtaining a certificate from a responsible 

official of the ABC Ltd. 

C. Obtaining a certificate from SHCIL D. Obtaining a certificate from XYZ ltd. 

Q67. XYZ 9ल9.�O! द♍=?0? ABC 9ल9.�O! �O  0�O �� ��]=�I >O/0 }�I� :K�ल㉍!�� �??ो0O>0 �+ ��)!/? 9ल9.�O! 
(�9.��.9I.��.�ल.) �I ज᰼.?�0, .े䜂 :ै䠂। लO�? ?0I�� द♍=?0? �9 -0=O> �I �??� _____________ �I �? 9�,I :P। 

A. ++�लO =?� }O  }?/ }O  .},?=Oजो䬂 }I �?K� }1}O  B. ABC 9ल9/�O! }O  ए} ]�म⹍/O.?1 
�/}?1I @O ए} ्䵚/?+ +्䵔 
्䵚?o, }1}O  

C. ए@.ए�.@I.��.एल. @O ए} ्䵚/?+ +्䵔 ्䵚?o, }1}O  D. XYZ 9ल9/�O! @O ए} ्䵚/?+ +्䵔 ्䵚?o, }1}O  
 

Q68. Which of the following is not an example of a circumstance, in which additional tests 
of control will not be performed after obtaining an understanding to plan the audit? 

A. Controls are known to be cost ineffective. B. Controls are effective but auditor opines that 

performing tests of control and reduced 

substantive tests would not be cost effective. 

C. Controls are effective and evidence already 

obtained is adequate to support a planned 

assessed level of control risk which is less than 

high. 

D. Performing extensive substantive testing would 

not lead to efficiency. 

Q68. -0o0 .े䜂 9O �L0 �� �9I ?90�}--, �? �??:0+ 0:I� :P, ��9.े䜂 लO�? ?0I�? �O  9ल� /K�0? �I �?0�?0I ्䵚?o, �00O �O  ,?? 
-0/�्䵔+ �? 
-,90], ?0I�+ 0:I� ��/? �?��?? 

A. )00�्䵔+ }K ल? , 
्䵚.?=I /?0? �?,? AP। B. )00�्䵔+ ्䵚.?=I AK,O Aै䠂 लO�}0 लO�? +1I�} }? /?00? AP �} 

)00�्䵔+ }? +1I�+ }10? �1 /लू +1I�+ /े䜂 }/I }10? 
ल? , ्䵚.?=I 0AI� AK ?। 

C. )00�्䵔+ ्䵚.?=I Aै䠂 �1 +AलO @O ्䵚?o, �}ए  ए ्䵚/?+ )00�्䵔+ 

�K��/ }O  },1 }? /लू㉍0?�}0 }10O }? @/-�0 }10O }O  9लए 

+0?�o, Aै䠂, �K �चᩍ� @O }/ AP। 

D. }0?+} /लू +1I�+ }10O @O }I >ल,? 0AI� AK I। 

 

Q69. A typical factory overhead cost is: 

A. Freight out B. Stationery and printing 

C. Depreciation on machinery and equipment D. Postage 
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Q69. -0o0 .े䜂 9O ]/? �� �?0�?0O �I 9?.?m/ �?0I ल?�, :P: 

A. -?A1I /?ल .?)? B. }�O>01I �1 +्䵚�9��  

C. />I01I �1 �+}1+ो䬂 +1 ्䵩?@ D. !?}–}00 

 

Q70. Which of the following cost is associated with Labour turnover? 

A. Preventive Cost B. Training Cost 

C. Sunk Cost D. Pre-production cost 

Q70. -0o0 .े䜂 9O �L0 9I ल?�, ्䵦. (लO,0) �0?�=0 �O  9?- �I)? :I� :P? 

A. )0=?1} ल? , B. ्䵚9>�+ ल? , 

C. +=,ल ल? , D. +=ू�-�त⑍+?.0 ल? , 

 

Q71. Which among the following is not a cause of labour turnover? 

A. Personal Cause B. Unavoidable Cause 

C. Avoidable Cause D. Predictable Cause 

Q71. -0o09ल��, .े䜂 9O �L0 ्䵦. (लO,0) �0?�=0 �? �� �?0+ 0:I� :P? 

A. }0]�, , }?1+ B. 
+91A?0� }?1+ 

C. +91A?0� }?1+ D. 
+O्䵌�, }?1+ 

 

Q72. If the minimum stock level and average stock level of raw-material A are 4,000 and 
9,000 respectively what is its re-order quantity? 

A. 10,000 B. 5,000 

C. 13,000 D. 15,000 

Q72. //? A 0?. �O  �चᩍ�O-.?ल �? m/ू0,. }�I� },0 �0 �9, }�I� },0 ्䵅.>: 4,000 �0 9,000 :P, ,K ,,?�� �� 

�9�I ?I0:�?O> .?्䵔? ��,0I :K�I? 

A. 10,000 B. 5,000 

C. 13,000 D. 15,000 
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Q73. Unit cost information is important for making all of the following marketing decisions 
except ___________. 

A. Determining the selling price of a product B. Bidding on contracts 

C. Determining the amount of advertising needed 

to promote the product 

D. Determining the amount of profit that each 

product earns 

Q73. ��?� ल?�, �?0�?0I -0o09ल��, +=?+0 +P 9लO .े䜂 9O ___________ �K �K)�0 9-I �O  9ल� .:m=?ू+? :P। 

A. �त⑍+?. }O  --्䵅I /लू㉍0 )0/?�1+ B.  O}ो䬂 }I -KलI ल ?0? 

C. �त⑍+?. }K -??=? .O0O }O  9लए �=�0} +=_?+0 }I /?्䵔? }? 
)0/?�1+ 

D. ्䵚त⑍0O} �त⑍+?. ्=?1? 
]��, �}ए �?0O =?लO ल?. }I /?्䵔? }? 
)0/?�1+ 

 

Q74. Which among the following statements is not true? 

A. P/V Ratio = Change in profit/Change in sales 

x100 

B. Total Fixed Cost = Total Contribution + Profit 

C. P/V Ratio = Fixed Cost/BES D. P/V Ratio = Contribution/Sales 

Q74. -0o09ल��, .े䜂 9O �L0 9? �-0 9m/ 0:I� :P? 

A. +I/=I 
0I+?, = ल?. /े䜂 +91=,�0/--्䵅I /े䜂 +91=,�0 x100 B. }I ल ]}-1 ल? ,= }I ल 0K .?0 + ल?. 

C. +I/=I 
0I+?, = ]}-1 ल? ,/-I.�.ए@. D. +I/=I 
0I+?, = 0K .?0/--्䵅I 
 

Q75. Which among the following is not used for apportionment? 

A. Labour Cost B. Work Cost 

C. Sales value or quantity D. Gross profit on sales 

Q75. -0o09ल��, .े䜂 9O ��}�? �?/K� ्䵚-?�0 (
?K>?m.े䜂�) �O  9ल� 0:I� ��/? �?,? :P? 

A. ्䵦/ ल? , B. }?0� ल? , 

C. --्䵅I /लू㉍0 
-=? /?्䵔? D. --्䵅I +1 @}ल ल?. 

 

Q76. Which among the following is not an unavoidable cause? 

A. Seasonal nature of business B. Discontentment over the job / working 

environment 

C. Change in plant location D. Disability, making a worker unfit for work 
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Q76. -0o09ल��, .े䜂 9O ]/? �� 
?90:?/? �?0+ 0:I� :P? 

A. }0?+?1 }I /L@/I ्䵚}ृ), B. }?/ 0? }?/ =?,?=1+ +1 
@�,K? 

C. @�0�्䵔 }O  }-?0 /े䜂 +91=,�0 D. +=}ल?� ,?, }?/ }O  9लए =}� 1 }? 
0K_0 AK0? 
 

Q77. The rate of interest is 12%, the price per unit is Rs.50, the number of units required in 

a year is 5000 and the cost of placing one order and receiving the goods once is Rs.54. How 

many units should be purchased at a time? 

A. 250 units B. 300 units 

C. 400 units D. 450 units 

Q77. m/?� �I ?0 12% :P, ्䵚-, /ू-0� �I., 50 y?� :P, �� =}? .े䜂 �=�/� ��?�/ो䬂 �I 9�_/? 5000 :P �0 �� �!?0 
?O0O �0 �� ,?0 .?ल ्䵚?o, �00O �I ल?�, 54 z?� :P। ,K ,,?�� �� �� 9./ ?0 ��,0I ��?�/?? �0I?I �?0I �?/:�? 

A. 250 �}?�0?K B. 300 �}?�0?K 

C. 400 �}?�0?K D. 450 �}?�0?K 
 

Q78. From the following data, find out the Break Even Point of Lee Ltd. 
Variable Cost = 60,000 (60%), Fixed Cost = 30,000 (30%), Net profit = 10,000 (10%) and 

Sales = 1,00,000 (100%) 

A. 65,000 B. 75,000 

C. 70,000 D. 85,000 

Q78. -0o0 !?�? 9O Lee 9ल9.�O! �? ल?--
ल?- �}--, (्䵜O� �=0 o=?���) ,,?�?। 
?90=,?0I/ ल?�, = 60,000 (60%), �}-0 ल?�,= 30,000 (30%), >Ip ल?- = 10,000 (10%) �0 -,्䵅I = 

1,00,000 (100%) 

A. 65,000 B. 75,000 

C. 70,000 D. 85,000 

 

Q79. Calculate Marginal Safety if a company produces single product which sells for Rs.20 

per unit. Variable cost is Rs. 15 per unit and fixed overhead for the year is Rs. 6,30,000 and 
profit is Rs. 60,000. 

A. 2,50,000 B. 2,60,000 

C. 2,40,000 D. 2,30,000 

Q79. //? �� �� ?0I �� ��ल �m??? �? �m???0 �0,I :P �K 20 z?� ्䵚-, ��?� ?0 -,�,? :P। 
�}-0 ल?�, 15 z?� ्䵚-, 

��?� :P �0 =}? �O  9ल� �}-0 �=0:O! 6,30,000 z?� ,-? ल?- 60,000 z?� :P, ,K �9�I 9I.?�, ल?�, �I �+0? �0े䜂। 

A. 2,50,000 B. 2,60,000 

C. 2,40,000 D. 2,30,000 
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Q80. Three workers A, B and C are put on a common task for which the total remuneration 
is Rs.150. A works for 40 hours, B works for 60 hours and C works for 44 hours on the job. 
The hourly rate is Rs. 0.75 for A; B gets Rs. 0.80 per hour while C gets Rs. 0.50 per hour. 
What remuneration will each man get? 

A. A = Rs. 45, B = Rs. 75, C = Rs. 33 B. A = Rs. 40, B = Rs. 70, C = Rs. 30 

C. A = Rs. 50, B = Rs. 80, C = Rs. 37 D. A = Rs. 40, B = Rs. 70, C = Rs. 44 

Q80. ,I0 =�? 0 A, B �0 C �K �� 9?�O �?. ?0 ल�?/? ��9�O  9ल� �I ल ??90्䵦9.� 150 z?� :P। A 0O 40  ��O �?. ��/?, 
B 0O 60  ��O �?. ��/? �0 C 0O 44  ��O �?. ��/?। A �O  9ल� ्䵚-,  ��? ?0 0.75 :P; B �O  9ल� ्䵚-,  ��? ?0 0.80 �0 C �O  
9ल� ्䵚-,  ��? ?0 0.50 :P। ,K ,,?�� �� ्䵚m/O� �?.I �K ��,0? ??90्䵦9.� 9.लO�?। 

A. A = 45 z+ए, B = 75 z+ए, C = 33 z+ए B. A = 40 z+ए, B = 70 z+ए, C = 30 z+ए 

C. A = 50 z+ए, B = 80 z+ए, C = 37 z+ए D. A = 40 z+ए, B = 70 z+ए, C = 44 z+ए 

 

Q81. A company produces product A which sells for Rs.20 per unit. Variable cost is Rs. 15 
per unit and Fixed overhead for the year is Rs. 6,30,000. 
Calculate sales value needed to earn a profit of 10% on sales. 
Calculate sales price per unit to bring BEP down to 1,20,000. 

A. Sales value = 1,50,000 , Sales to bring down 

BEP = 23.25 

B. Sales value = 3,00,000, Sales to bring down 

BEP = 30.25 

C. Sales value = 2,50,000 , Sales to bring down 

BEP = 25 

D. Sales value =2,10,000 , Sales price to bring 

down BEP = 20.25 

Q81. �� �� ?0I A �m??? �? �m???0 �0,I :P �K 20 z?� ्䵚-, ��?� ?0 ,O�? �?,? :P। 
�}-0 ल?�, 15 y?/O ्䵚-, ��?� :P 
�0 =}? �O  9ल� �}-0 �=0:O! 6,30,000 z?� :P।  
-,्䵅I ?0 10% �? ल?- �.?0O �I ज᰼z0, �O  
0I9?0 -,्䵅I .ूल㉍/ �I �+0? �0े䜂। 
,I.�.?I. �K 1,20,000 ,� 0I�O ल?0O �O  9ल� ्䵚-, /ू-0� -,्䵅I .ूल㉍/ �I �+0? �0े䜂। 

A. --्䵅I /लू㉍0 = 1,50,000 , -I.�.+I. }K 0I�O ल?0O }O  9लए 

--्䵅I = 23.25 

B. --्䵅I /लू㉍0 = 3,00,000, -I.�.+I. }K 0I�O ल?0O }O  9लए 

--्䵅I = 30.25 

C. --्䵅I /लू㉍0 = 2,50,000, -I.�.+I. }K 0I�O ल?0O }O  9लए 

--्䵅I = 25 

D. --्䵅I /लू㉍0 =2,10,000 , -I.�.+I. }K 0I�O ल?0O }O  9लए 

--्䵅I = 20.25 

 

Q82. XYZ Ltd. requires component A for manufacturing their products. Calculate the 
Economic Order Quantity using the information given below. 
Annual demand for component A = 8,000 units, cost of placing an order = Rs. 200 per 
order, cost per unit of A Rs.400, carrying cost % p. a 20%. 

A. 300 units B. 200 units 

C. 250 units D. 350 units 
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Q82. XYZ 9ल9.�O! �K 
?0O �m???ो䬂 �O  -0.??+ �O  9ल�  �� A �I �=�/�,? :P। 0I�O ?I �� �?0�?0I �O  �?/K� 9O ��-?� 

�?O> .?्䵔? �I �+0? �0े䜂 । 
 �� A �O  9ल� =?+}?� .?��= 8,000 ��?�/??, �?O> ?O0O �I ल?�, = 200 y?/O ्䵚-, �?O>, A �I ्䵚-, ��?� ल?�, 400 

z?�, ्䵚-, =}? 0�0�?= ल?�, 20%। 

A. 300 �}?�0?K B. 200 �}?�0?K 

C. 250 �}?�0?K D. 350 �}?�0?K 
 

Q83. In a company, weekly minimum and maximum consumption of material A are 25 and 
75 units respectively. The reorder quantity as fixed by the company is 300 units. The 

material is received within 4-6 weeks from issue of supply order. Calculate minimum level 
and maximum level of material A. 

A. Minimum = 100 units, Maximum = 300 units B. Minimum = 200 units, Maximum = 600 units 

C. Minimum = 250 units, Maximum = 650 units D. Minimum = 150 units, Maximum = 350 units 

Q83. �� �� ?0I .े䜂 A 9?.्䵇I �I 9?o,?/:� m/ू0,. �0 
�/�,. �?, ्䵅.>: 25 �0 75 ��?�/?? :ै䠂। �� ?0I द♍=?0? 
-0/??90, ?I0: �?O> .?्䵔? 300 ��?�/?? :P। �?ू-,? �?O> �O  �?0I :K0O �O  4-6 9o,?: �O  -I,0 9?.्䵇I ्䵚?o, :K,I :P। 9?.्䵇I A 

�O  m/ू0,. },0 �0 
�/�,. },0 �I �+0? �0े䜂। 

A. m0ू0,/ = 100 �}?�0?K, 
�/},/ = 300 �}?�0?K B. m0ू0,/ = 200 �}?�0?K, 
�/},/ = 600 �}?�0?K 

C. m0ू0,/ = 250 �}?�0?K, 
�/},/ = 650 �}?�0?K D. m0ू0,/ = 150 �}?�0?K, 
�/},/ = 350 �}?�0?K 
 

Q84. Income which accrue outside India from a business controlled from India is taxable in 
case of: 

A. Residential only B. Not ordinarily resident only 

C. Both ordinarily resident and Not ordinarily 

Resident 

D. Non-resident 

Q84. -?0, 9O -0/�-्䵔, ��� �?0O =?लO }/???0 �O  9ल� -?0, �O  ,?:0 9O ्䵚?o, :K0O =?लI �/ -0o0 .े䜂 9O ��9�O  9ल� �0 /K_/ 

:K�I: 

A. }O =ल )0=?@I B. }O =ल @?/?m0 )0=?@I 0AI� 

C. @?/?m0 )0=?@I �1 @?/?m0 )0=?@I 0AI�, .K0ो䬂 }O  9लए D.  P1-)0=?@I 
 

Q85. Dividend paid by an Indian Company is : 

A. Taxable in India in the hands of recipient B. Exempt in the hands of recipient 

C. Taxable in the hands of company and exempts 

in the hands of the recipients 

D. Not taxable 
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Q85. -?0,I/ �� ?0I द♍=?0? -I�,?0 ��/? ल?-?�> : 

A. ्䵚?o,},?� }O  A?-ो䬂 /े䜂 .?1, /े䜂 }1 0K_0 AK,? AP B. ्䵚?o,},?� }O  A?-ो䬂 /े䜂 �ू� ्䵚?o, AK,? AP 

C. }� +0I }O  A?-ो䬂 /े䜂 }1 0K_0 �1 ्䵚?o,},?� }O  A?-ो䬂 /े䜂 �ू� 
्䵚?o, AK,? AP 

D. }1 0K_0 0AI� AK,? AP 

 

Q86. "The value of total output of finished goods and services for any economy during a 

year " is the definition of __________ . 

A. Net National Income B. Gross National Product 

C. Gross Domestic Product D. National Outlay 

Q86. "�� =}? �O  ?L0?0 ��9I 
-?}/=}-? �O  9ल� ,P/?0 .?ल �0 9O=?�� �O  �I ल �m???0 �? .ूल㉍/", /: __________ �I 
?90-?}? :P। 

A. >I्䵍 1?�रI0 �0 B. @}ल 1?�रI0 �त⑍+?. 

C. @}ल !1Oल ू�त⑍+?. D. 1?�रI0 +91}00 

 

Q87. National Income is viewed in terms of ___________ . 

A. Calendar year (January - December) B. Financial year (April - March) 

C. U.N year D. Quarterly basis 

Q87. 0?�रI/ �/ ____________ �O  
0I9?0 ?O�I �?,I :P। 

A. }P ले䜂!1 =?� (�0=1I - 9.@�-1) B. +=त⑍,I0 =?� (
्䵚Pल - /?��) 

C. 0ू.ए0 =?� D. ),/?AI �/?1 
 

Q88. 'VAT' is an _______. 

A. Excise duty B. Ad valorem tax 

C. Direct tax D. Specific tax 

Q88. =P� (VAT) ��_________ :P। 

A. �त⑍+?. >Iल㉍} B. 0-?/लू㉍0 }1 

C. ्䵚त⑍0� }1 D. +=9>�� }1 
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Q89. "India's economic policy: Preparing for the 21st Century" is a book written by 
__________ . 

A. C. Rangarajan B. Damodaran 

C. Bimal Jalan D. Vijay Kelkar 

Q89. "-?0, �I ��-?� 0I-,: 21=I� 9?I �O  9ल� ,P/?0I", /: ?I},� __________ द♍=?0? 9ल�I �� :P। 

A. @I. 1� 1?�0 B. .?/K.10 

C. --/ल �?ल?0 D. +=�0 }O ल}1 
 

Q90. Which of the following will represent the Tobin tax? 

A. A tax levied on Nationalised banks B. To invest in infrastructural development 

C. A tax imposed on industries which entertains 

contract labourers 

D. A tax imposed on all transactions in capital 

market for FII 

Q90. -0o0 .े䜂 9O �L0 �K-,0 �P]9 �K ्䵚},I, �0O�?? 

A. 1?�रI0}ृ, -ै䠂}ो䬂 +1 ल ?0?  0? }1 B. 
=@�1�0?त⑍/} +=}?@ /े䜂 )0=O> }10? 

C.  O}O  }O  /�.1ूो䬂 /0K1��0 AO,I �्0K ो䬂 +1 ल ?0? �?0O =?ल? 
}1 

D. ए,.��.��. }O  9लए +ू��I -?ज?1 /े䜂 @.I लO0.O0 +1 ल ?0? 
�?0O =?ल? }1 

 

Q91. Double counting means ___________. 

A. Counting a product at different stages of 

production 

B. Counting a product at first stage and last stage 

of production 

C. Counting a product more than once D. Misleading conclusion about size of National 

product 

Q91. ?K:0I ��0,I �? 
-? _____________ :P। 

A. �त⑍+?.0 }O  +=9.m0 �1+ो䬂 /े䜂 �त⑍+?. }I � 0,I B. �त⑍+?. }O  +AलO �1+ �1 
�),/ �1+ /े䜂 �त⑍+?. }I � 0,I 

C. ए} �त⑍+?. }I ए} @O 
�/} -?1 � 0,I D. 1?�रI0 �त⑍+?. }O  �}?1 }O  -?1O /े䜂 ्䵝?/} )0�}?� 
 

Q92. The gap between Domestic product and National product is significant for a country 
with _________ . 

A. Small foreign investment B. Medium foreign investment 

C. No foreign investment D. Huge foreign investment 
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Q92.  0Oलू �m??? �0 0?�रI/ �m??? �O  ,I� �O  
�,0 �� _______________ =?लO ?O> �O  9ल� .:m=?ू+? :P। 

A. ल!I +=.O>I )0=O> B. /o0/ +=.O>I )0=O> 

C. }K� +=.O>I )0=O> 0AI� D. -)O +=.O>I )0=O> 

 

Q93. In India which of the following is regulated by Forward Market Commission? 

A. Currency futures trading B. Equity futures trading 

C. Commodities futures trading D. Forex trading 

Q93. -?0, .े䜂 -0o0 .े䜂 �L0 +I0=!? .?�े� �.I>0 द♍=?0? -0/�-्䵔, ��/? �?,? :P? 

A. ्䵅� @I M0�ू@� रO)! �  B. �]�=�I M0�ू@� रO)! �  

C. }/I)!�I@ M0�ू@� रO)! �  D. +=.O>I /I�? रO)! �  

 

Q94. Which one of the following brings out the publication called 'Energy Statistics' from 
time to time? 

A. Central Statistical Organization B. Planning Commission 

C. Power Finance Corporation Ltd. D. Central Power Research Institute 

Q94. -0o0 .े䜂 9O �L0 9./ 9./ ?0 '��?? 9?��_/�I' 0?.� ्䵚�?>0 ्䵚�?9>, �0,?/�0,I :P? 

A. }े䜂 �I0 @?�]_0}I0 @�  0 B. 0K�0? �0K  

C. +?=1 ,?�0े䜂@ }I+K1O>0 9ल9/�O! D. }े䜂 �I0 +=्0I, 
0I@�/?0 @�}-?0 

 

Q95. Debit balance in Cash Book means 

A. Overdraft B. Overdue balance 

C. Favourable balance D. Credit balance 

Q95. 0K�) ,:I .े䜂 0?.O >O} �? 
-? :P – 

A. �=1ि?M� B. 
),.O0 >O? 

C. 
0I}ूल >O? D. �/? >O? 

 

Q96. Overhead Budget Variance is a sub-variance of which of the following? 

A. Overhead volume variance B. Overhead efficiency variance 

C. Overhead cost variance D. Overhead price variance 
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Q96. �?0I}// ,�� 
�,0, �0.े䜂 9O ��9�? �?-
�,0 :P? 

A. �+1I}00 ्䵚/?्䵔? 
�,1 B. �+1I}00 }?0��/,? 
�,1 

C. �+1I}00 ल? , 
�,1 D. �+1I}00 }I/, 
�,1 
 

Q97. Who conducts the Management audit of a company? 

A. Qualified cost accountant B. Qualified chartered accountant 

C. An accountant D. Any knowledgeable person 

Q97. �� ?0I �I ्䵚,�/0 लO�? ?0I�? �L0 �0,? :P? 

A. 
A�,?्䵚?o, ल? , लO�?}?1 B. 
A�,?्䵚?o, @0.I लO�?}1 

C. लO�?}?1 D. �?0}?1I 1�0O =?ल? }K� .I }0]�, 

 

Q98. Which of the following is not a relevant cost? 

A. Replacement cost B. Sunk cost 

C. Marginal cost D. Depreciation 

Q98. �0.े䜂 9O �L0 9? +=�ल㉍? 9��, ल?�, 0:I� :P? 

A. ्䵚),}-?+0 ल? , B. !ू-I ल? , 

C. @I/?m,} ल? , D. /लू㉍0्䵩?@ 

 

Q99. Which of the following is the income effect of inferior goods? 

A. More B. Negative 

C. Perfectly elastic D. Inelastic 

Q99. �0.े䜂 9O �L0 9? +=�ल㉍? -0��ृ�� .?ल �? �/ ्䵚-?= :P? 

A. 
�/} B. 0}?1?त⑍/} 

C. �.>� z+ @O ्䵚त⑍0?}- D. 
्䵚त⑍0?}- 
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Q100. Exemption under section 54 is available to - 

A. All assessees B. Individuals only 

C. Individual + HUF D. Any Partner 

Q100. /?0? 54 �O  ,:, �ू� �m:े䜂 9.ल,I :P – 

A. @.I )0/?�91,I B. }O =ल }0]�, 

C. }0]�, + ए�.0.ूए,. D. }K� .I @?�O.?1 
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